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-36.8 + 0.0

TP delay [ns]

TVC(cbch) (0,7,13

~inuiLsy/e+ud [ 25
= pO 4239+ 0.0
pl -36.65+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

A7 nun ssoe+u4 / 25
po 4236+ 0.0
pl -38.12+ 0.00

1=
50 100

TP delay [ns]

TVC(cbch) (0,7,6

=1 nur bobe+u4 [ 25
- pO 4226+ 0.0
[ pl -35.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

T nuzgr4e+04 [ 25
= po 4259+ 0.0
- pl -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

~1nuiLg4o3e+04 / 25
F-. pD 4240+ 0.0
L pl -35.89+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT 1 nuiLbase+u4 | 25
- po 4233+ 0.0
p1 -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nui bzZoe+u4 / 25
- pO 4221+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

EEALER 94BE+U4/25
= po 4262+ 0.0
p1 -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

-1 nui boe+ud / 25
e pO 4252+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

0

TVC(cbch) (0,8,0

A~ nui a4ze+04 | 25
- po 4216+ 0.0
p1 -36.28+ 0.00

TP delay [ns]

TVC(cbch) (0.8,4

- 1L z43e+04 / 25
4219+ 0.0
-35.1+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (O 8,8

v Zazerua 25
pD 4240 0.0
p1 -36.57+ 0.00

TP delay [ns]

TVC(cbch) (0,812

- i S1e+04 [ 25
po 4257+ 0.0
pl -37.22:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

A 1 i 4uae+ud | 25
=N po 4201+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nuiL 3u4e+04 / 25
4213+ 0.0
-34.5 % 0.0

TP delay [ns]

TVC(c,b ch) (0 8,9

T naiUs/e+ud [ 25
= pO 4255+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 8 13

T nui p4se+ud / 25
= pO 4267+ 0.0
pl -37.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

X~ 1L zge+u4 [ 25
-, po 4214+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

©1nuiLb3ve+u4 / 25
- pO 4235+ 0.0
L pl -35.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 8, 10

© 1 nuig.quze+u4 [ 25
= po 4283+ 0.0
[ p1 -37.14 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

~ 1 nuiLg4o5e+04 / 25
o, pD 4265+ 0.0
L pl -37.59+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

A LS ae U4 | 25
- po 4232+ 0.0
pL -36.28:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

S nun br3e+04 / 25
pO 4241+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(c,b ch) (o, 8

AN uwe+u4/25
- pO 4276+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8 15

Tinuiag/e+u4 /25
= pO 4257+ 0.0
p1 -36.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

A7 1nun ssze+04 /25
4184+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,9,4

T 1 zee+ud [ 25
pO 4183+ 0.0
p1 -35.54 + 0.00

e 4
% T
TP delay [ns]
TVC(cbch) (O 9,8

1nuiz.494e+04 | 25
po 4218+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T rore+u4 /25
pO 4223+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT rnuiL3r/e+u4 [ 25
., po 4180+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

- nui 31be+04 / 25
pO 4200+ 0.0
pL -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

-1 nub.yuve+ud / 25
po 4213+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (0,9,13

-1 nuiLquve+ud / 25
pO 4199+ 0.0
pl -34.57 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

A7 nun s43e+04 /25
- po 4201+ 0.0
[ p1 -36.36 + 0.00

TP delay [ns]

TVC(cbch) (0,9,6

T 36 /e+04 [ 25
- pO 4200+ 0.0
[ pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

© 1 nuig.uuse+u4 / 25
= po 4250+ 0.0
L pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

1 nuiL4upe+u4 / 25
- pD 4210+ 0.0
L -34.24 + 0.00

- C = 29.20 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT rnuiL41se+ud [ 25
po 4202+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

=1 nui booe+u4 / 25
pO 4217+ 0.0
pL -36.77+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T zbue+u4/25
po 4248+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nuipule+ud / 25
po 4225+ 0.0
p1 -35.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

1 nui134e+04 / 25

pO 4210+ 0.0
-34.23+ 0.00

[ C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,10,4

T 140e+04 /25
pO 4226+ 0.0
pl -36.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 10 8

1L 4oze+04 / 25
= po 4216+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (0,10, 12

1L pade+u4 [ 25
= po 4261+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

[ C =29.08 [ps/ch]

AT rnunLzize+ud [ 25
e, po 4207+ 0.0
p1 -34.39+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

=1 nui 4b5e+04 / 25
- pO 4234+ 0.0
pL -37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

-1 nuig 19ve+ud / 25
- pO 4234+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

~ 1w 1alerud /25
- pO 4255 0.0
p1 -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

-1 nuibaze+04 [ 25
- pO 4236+ 0.0
[ pl -36.83+ 0.00

K™ 1 nui 1oye+u4 / 25
__ po 4215+ 0.0
L pl -34.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

Tz 13/e+u4 /25
=, po 4255+ 0.0
- pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (0.10, 14

1000

~ 1L bzoe+u4 / 25
- pD 4263+ 0.0
L pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1 nuiLudboe+ud [ 25
. po 4230+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

“nun s1ze+04 / 25
- pO 4259+ 0.0
-37.3+ 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

T nai r30e+04 / 25
- pO 4251% 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

-1 nuiL byye+ud [ 25
= pO 4257+ 0.0
p1 -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A7 nun zsse+ud [ 25
4159+ 0.0
-34.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,11,4

- 1L u9ze+04 | 25
™, pO 4166+ 0.0
p1 -34.13+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

i pobe+u4 / 25
= po 4189+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (011,12

T 1 o0e+ud /25
- po 4214+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

AT 1 nuiLzsoe+ud [ 25
- po 4162+ 0.0
pl -35.29 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

=1 nuiL Usbe+ud / 25
e, pO 4192+ 0.0
pL -34.94+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

T nans.uze+ud [ 25
= pO 4211+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T inai s33e+ud / 25
- pO 4207+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(CbCh) (o, 11 2)

TrnuiLzz1e+04 /25
= pO 4176+ 0.0
L p1 -35.19+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

- Ui 343e+04 / 25
- pO 4213+ 0.0
3 pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1 nuizugve+ud | 25
= po 4199+ 0.0
L p1 34,37+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,11, 14

X~ 1L zy4e+04 [ 25
pee. po 4218+ 0.0
L p1 -36.15+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT rnuiLsrze+u4 [ 25
poes, po 4186+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

-1 nui 144e+04 / 25
e, pO 4198+ 0.0
p1 -34.28+ 0.00

[ C =29.17 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(E.b.eh=(0, 11, 11

- Tonanl/1e+u4 25
= po 4215+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (0,11,15

T nui zyse+ud [ 25
= pO 4212+ 0.0
-34.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

©ruiLuooe+u4 / 25
.. pO 4209+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,124

- rnuiL341e+04 / 25
pO 4218+ 0.0
pl -37.87:+ 0.00

TP delay [ns]

TVC(cbch) (0o, 12 8

1 nuizugve+u4 | 25
= po 4206+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (0,12, 12

T rnuiL4zse+u4 [ 25
= po 4221+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT rnuLzrse+ud [ 25
P, po 4218+ 0.0
pl -37.78 + 0.00

TP delay [ns]

TVC(cbch) (0,125

- nui1/4e+04 [ 25
e pO 4209+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 9

~ 1 nuw.144e+04 / 25
= po 4225+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

T nuiLvoae+ud /25
= pO 4223+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (o, 12 2)

TrnuiLzrre+u4 /25
=, pO 4215+ 0.0
L pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

“rnun151e+04 /25
- pO 4214+ 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

© 1 nuig, 18be+u4 / 25
. po 4239+ 0.0
- pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

~ 1 nuiL4o8e+04 / 25
- pD 4229+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1Lz re+ud [ 25
- po 4239+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

- nui b3/e+04 / 25
- pO 4242+ 0.0
pL -37.32:+ 0.00

50 100
TP delay [ns]

TVC(eh.ch)=(0, 12, 11

T nuiz zsge+ud [ 25
= pO 4251% 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T inuigp/e+ud [ 25
- po 4229+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

T rnuzsure+u4 [ 25
pO 4217+ 0.0
p1 -36.06 + 0.00

TP delay [ns]

TVC(Cbch) (o, 13 4

4000

3000

2000

1000

- iU 94Be+u4 [ 25
=5 po 4236+ 0.0
pl -37.11+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 13,8

- L nuizyive+ud | 25
- pD 4263+ 0.0
-34.55+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(chh) (0, 13 1)

- i 1hae+u4 | 25
e pO 4216+ 0.0
pL -37.01 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 5

-1 nui 180e+04 / 25
- pO 4240 0.0
pL -37.17 0.00

TP delay [ns]

TVC(eb.oh)=(0, 13,9

Tinan/ Ube+ud [ 25
- po 4287+ 0.0
p1 -34.57 + 0.00

4000
3000 - ]
2000 - 1
wor C =28.94 [ps/ch] ™, 7]
) - o
TP delay [ns]

TVC(Cbch) (o, 13 12

AR :)4264—\)4 125
4000 e pO 4253+ 0.0
pl -34.58 + 0.00
3000 = 71
2000 - 7
oo C = 28.92 [ps/ch] ]
-
-
-
PR R B
50 100

TP delay

[ns]

1000 C = 28.92 [pS/Ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (0, 13 13

4000 e pO

p1

T inugnae+ud [ 25
4253+ 0.0
-35.92+ 0.00

3000

2000

1000

TP delay [ns]

TVC(CbCh) (0,13,2)

4000

2000

1000

X~ 1z zlbe+u4 [ 25
-, po 4222+ 0.0
[ p1 -35.64 + 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 13 6

4000

3000

2000

1000

©1nu,109e+04 / 25
pe, pO 4261+ 0.0
L pl -37.34+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

T g 332e+04/25

4000 =, pO 4306+ 0.0

[ pl -34.84 + 0.00
a000 ]
2000 .
wor C =28.70 [ps/chl ™, 7

1 1 -
0 50 100

TP delay [ns]

4000

3000
2000

1000

TVC(CbCh) (o, 13 14

-1 nuzp15e+u4 [ 25
4251 0.0
p1 -35.19+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

A1z sh1e+U4 ] 25
o po 4241% 0.0
pL -37.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 7

- 1 nuiz,184e+04 | 25
= po 4252+ 0.0
p1 -36.66 + 0.00

50 160
TP delay [ns]

TVC(Cbch) (0, 13 11

- s, rde+Ud ] 25
- pO 4305 0.0
p1 -35.85+ 0.00

TP delay

TVC(cbch) (0, 13 15

[ns]

- 1uz.yuae+ud [ 25
4269+ 0.0
-36.71+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

T 14ze+04 /25
P pO 4183+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0,144

T zr3e+u4 / 25
e, pO 4204+ 0.0
p1 -34.79:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 14 8

T rnuzgoe+04 [ 25
4204+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,12

T L pze+ud /25
= po 4225+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

AT 1 nuiLzoye+ud [ 25
e, po 4196+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,5

-1 nui 3bye+u4 / 25
e, pO 4208+ 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

T nun glye+ud [ 25
= po 4220+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (014,13

Tinuiasle+ud [ 25
- pO 4227+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 14 2)

1000

TrnuiLzr4e+04 /25
o=, pO 4202+ 0.0
[ p1 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (0.14,6

=1L z4pe+04 / 25
== pO 4207+ 0.0
[ pl -34.15+ 0.00

- C = 29.28 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

Tz 15ze+04 | 25
o=, po 4233+ 0.0
r -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0. 14,14

~ 1L pzoe+u4 [ 25
o=, pD 4241+ 0.0
L p1 -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

AT rnun L zze+u4 25
- po 4199+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

-1 nui 430e+04 / 25
- pO 4208+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(ehch)=(0, 14, 11

1 nuiL p4ye+ud [ 25
= po 4232+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,15

T nui ozge+ud [ 25
- po 4246+ 0.0
p1 -37.48 + 0.00

TP delay [ns]



TVC(cbch) (0,15,0)

4000 [

3000

2000 =

woo- C = 29.65 [ps/ch]

-1 nuiLuase+ud [ 25
pO 4195+ 0.0
p1 -33.73+ 0.00

50

1
100

TP delay [ns]

TVC(cbch) (0,15 4

4000 [

3000 -

2000 [~

1000 C

- i z3se+04 / 25
pO 42114 0.0
p1 -36.16+ 0.00

10‘0
TP delay [ns]

Tvc(cbch) (0,158

4000 [

3000

2000

1000

- /L blze+U4 [ 25
pD 4220+ 0.0
p1 -35.42.+ 0.00

TP delay [ns]

TVC(eb.ch)=(0, 15, 12

4000 [

3000

2000

1000

- i 413e+04 [ 25
pO 4231% 0.0
p1 -35.02:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,1)

[C=30.13 [ps/ch] > 1

S 7 9153/25
pO 4194+ 0.0
pL -33.19:+ 0.00

L
50

1
100

TP delay [ns]

TVC(c,b Ch) (0, 15 5

-1 nui zaye+u4 [ 25
pO 4213+ 0.0
pL -36.45+ 0.00

TP delay [ns]

TVC(c, bch) (0,159

-1 nus b44e+04 [ 25
pO 4258+ 0.0
Pl 3552 0.00

TP delay [ns]

TVC(eb.ch)=(0, 15, 13

T inai zzye+ud [ 25
pO 4222+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,15,2)

X~ 1L z33e+04 [ 25
po 4217+ 0.0
p1 -35.44 £ 0.00

TP delay [ns]

TVC(cbch) (0,156

TN 173e+04 / 25
pO 4219+ 00
Pl 3658+ 0.00

10‘0
TP delay [ns]

TVC(eb,ch)=(0, 15, 10

©1nuz 3yge+ud | 25
pO 4277+ 0.0
p1 -36.22 + 0.00

TP delay [ns]

TVC(Cbch) (0,15, 14

- 1L us3e+ud [ 25
pD 4218+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(cbch) (0,15,3)

4000 [

3000

2000

1000

A~ 1 nuiL,105e+U4 / 25
po 4212+ 0.0
pL -34.99+ 0.00

TP delay [ns]

TVC(c, bch) (0,15, 7

4000 [Gu

3000

2000 -

1000 C

- 1nui 418e+04 / 25
pO 4234+ 0.0
p1 -36.74 + 0.00

50 1(;0
TP delay [ns]

Tvc(cbch) (0,15, 11

4000 [us.

3000 -

2000 -

w00 C = 28.93 [ps/ch]

-1 nuiL ouobe+u4 / 25
pO 4254+ 0.0
p1 -34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

4000 [u.

3000

2000

1000

- i 1uze+ud [ 25
pO 4228+ 0.0
p1 -35.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

X~ 1w s43e+04 [ 25
[, PO 41832 0.0
pl -36.35 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

- i 344e+04 / 25
™, pO 4165+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T i bzoe+U4 [ 25
- PD 4189+ 0.0
pl -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

TinuiLgrse+ud [ 25
- PO 4201+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

R~ 1 Ui 4s0e+U4 [ 25
- PO 4186+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1,0,5

'rHuliZBE+U4/25
F, Y 4174+ 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

1 nuig.ybe+ud / 25
DO 4209+ 0.0
pl -34.67 + 0.00

TP delay [ns]

TVC(cbch) (1,0,13

T b3se+u4 [ 25
pO 4201% 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,0,2)

K™ 1w zzze+04 125
e, po 4180+ 0.0
I pl -35.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- nuiLa12e+04 ] 25
- pO 4185+ 0.0
r pl -35.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

~ il p41e+04 / 25
- DO 4228+ 0.0
I pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

~ 1L byze+u4 [ 25
4214+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1nuiLgo/e+u4 /25
= Y 4203+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

S nu /33e+04 / 25
F= PO 4195+ 0.0
pL -36.42.+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

SRR au=e+u4/25
4236+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (1,0,15

T szze+u4 [ 25
= pO 4208+ 0.0
pl -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

K™ 1 nuin4ne+04 / 25
P po 4176+ 0.0
pl -36.27 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

T35 /e+u4 [ 25
- pO 4176+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

il ba0e+U4 / 25
= po 4195+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T rnuiLb1ze+u4 /25
- po 4212+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1 nuiLovze+ud [ 25
Fee,, po 4197+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

© 1 nui 334e+04 / 25
4194+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

T nun.b1pe+u4 /25
[, 4219+ 0.0
-34.39 + 0.00

[ C =29.08 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

Tanaizg/e+ud [ 25
- pO 4204+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

AT 1nui3roe+04 /25
__- po 4196+ 0.0
L pl -35.4+ 0.0

3000

T 3rze+04 [ 25
- pO 4203+ 0.0
[ pl -36.09 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

T z0ze+u4 /25
-, po 4227+ 0.0
- pl -34.49 + 0.00

- C = 28.99 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,14

T gose+ud / 25
4214+ 0.0
-36.9 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1 nuiL4uoe+ud [ 25
P, po 4203+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

-1 nui Z1ye+u4 / 25
4203+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

1)
-1 nui suse+u4 / 25
- po 4230+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (11,15

T inuizyle+ud [ 25
= pO 4205+ 0.0
p1 -35.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

K™ nui tose+ud / 25
. po 4196+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

- i za9e+04 [ 25
e, pO 4214+ 0.0
p1 -35.94  0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

T rnuiLyyle+u4 / 25
= po 4198+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T o/e+u4 /25
= po 4241 0.0
pl -36.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1 nunLzsse+ud [ 25
., po 4196+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui 4uze+u4 [ 25
pO 4232+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

~ 1 nug.bzae+u4 / 25
po 4219+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (1,213

TinuiLpl/e+ud /25
pO 4239+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

“nunLuve+ud [ 25
- pO 4210+ 0.0
o pl -35.77+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

-1 Zoge+u4 [ 25
- pO 4240+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

© 1 nuiLyuse+u4 / 25
o=, po 4229+ 0.0
I pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

©nuiLg4se+u4 [ 25
-, pD 4240+ 0.0
L pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT rnuiLizse+ud [ 25
- po 4203+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nun 334e+04 / 25
- pO 4237+ 0.0
pL -35.71% 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T, /b/e+U4/25
= pO 4251% 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

Tonai g roe+ud [ 25
= pO 4236+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

A1 nui booe+ud / 25
.. po 4207+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,34

T 1 35e+04 [ 25
e pO 4201+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

1 nuiLyyve+u4 / 25
- po 4230+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T g31e+u4 / 25
- po 4194+ 0.0
pl -33.45+ 0.00

[ C =29.89 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

AT 1 nuiLos/e+u4 [ 25
.. po 4207+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

~ 1 nuiLbb/e+u4 [ 25
E pO 4232+ 0.0
pL -38.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

T inugbzie+ud [ 25
- pO 4248+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,313

T nuiL suse+ud / 25
feee. 4195+ 0.0
-33.57+ 0.00

[ C=29.79 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

A7 1nuiruie+u4 /25
_- po 4210+ 0.0
o pl -36.18+ 0.00

3000

“ b rge+u4 [ 25
3 pO 4232+ 0.0
[ pl -38.36+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

T 1L, r49e+04 | 25
- po 4271+ 0.0
- pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (1,314

- nar )1.:107 125
o=, pO 4192+ 0.1
[ pl -33.5+ 0.0

- C = 29.85 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3

AT 1L 1se+u4 [ 25
- po 4225+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

“rnuan 159e+04 [ 25
- pO 4237+ 0.0
pL -37.97+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T bbée+l}4/25
- po 4253+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

Tinuinz/e+ud [ 25
= pO 4200+ 0.0
-34.15+ 0.00

[ C=29.28 [ps/ch]

PR I S S |
50 100

TP delay [ns]



TVC(cbch) (1,4,0)

4000

3000

2000

1000

AT 1nuiLosre+ud /25
- po 4221+ 0.0
p1 -38.4+ 0.0

TP delay [ns]

TVC(cbch) (14,4

4000

3000

2000

1000

- 1L 304e+04 / 25
[, PO 4203+ 0.0
pl -35.08 + 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

4000

3000

2000

1000

T rnuz43/e+u4 /25
- pO 4243+ 0.0
-36.7 + 0.0

0

1
50 100

TP delay [ns]

TVC(cbch) (1,4,12

4000

3000

2000

1000

T L bzse+u4 | 25
= po 4208+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

A7 1 nuiLoboe+ud [ 25
F po 4225+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

-1 nuiLa1e+ud | 25
== po 4218+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nu. 15be+u4 / 25
- po 4270+ 0.0
-36.7 £ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,4,13

T inuiplse+ud / 25
— pO 4218+ 0.0
pl -35.99+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

K™ 1 nuiL4o0e+04 / 25
_l' po 4228+ 0.0
o pl -38.12+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,6

TnunLbae+u4 / 25
- pO 4222+ 0.0
- pl -36.59 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

T, (zze+04 | 25
- po 4291+ 0.0
- pl -37.49+ 0.00

0

TP delay [ns]

TVC(cbch) (1,414

T 1d/e+u4 /25
- pD 4220+ 0.0
L p1 -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

p1

A~ 1 nuiLbbae+u4 / 25
4229+ 0.0
-37.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

Fo=. pO
pl

- nur b31e+u4 / 25
4229+ 0.0
-35.84+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= pO
pL

1)
T nui gzbe+u4 / 25
4278+ 0.0
-36.46 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

= po

p1

-1 nuiL oboe+ud / 25
4213+ 0.0
-36.27 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0

AT inuia)/e+04 /25
- po 4192+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (1,54

T bz1e+u4 / 25
o, pO 4225+ 0.0
pl -36.00+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

Tz 2yse+u4 | 25
PD 4237+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(cbch) (1,512

©rnuiLgyse+u4 / 25
pO 4253+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

AT rnunLrsse+ud [ 25
Frase po 4197+ 0.0
pl -35.54+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui 493e+04 / 25
pO 4226+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T nuy.3g/e+u4 /25
- po 4260+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (1,5,13

T inui gse+ud [ 25
- pO 4249+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

TP delay [ns]

TVC(cbch) (1,56

- PO
p1

TonunLore+ud [ 25
Freee po 4202+ 0.0
o pl -35.78+ 0.00

3000

T b ye+ud [ 25

) —‘
-36.81+ 0.00

4243+ 0.0

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

T nuig16ze+04 / 25
. po 4275+ 0.0
- pl -37.03 + 0.00

TP delay [ns]

TVC(cbch) (1,514

T L 4se+ud /25
- pD 4247+ 0.0
L pl -35.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C=28.43 [ps/ch

AT L szse+u4 [ 25
o po 4211+ 0.0
pl -35.17 + 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nui fuoe+u4 / 25
- pO 4245 0.0
pL -35.66+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T, 4u4e+u4/25
- po 4282+ 0.0
-37+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,5,15

Tinais4/e+04 /25
- pO 4258+ 0.0
-35.71+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

' po

pl

A7 1 nui puse+ud / 25
4194+ 0.0
-37.21+ 0.00

TP delay [ns]

TVC(cbch) (1,64

- i zsge+ud | 25
4221+ 0.0
-36.87 + 0.00

Fe. po
pl
- C -1
1 1 -F
50 100
TP delay [ns]
TVC(cbch) (1 6,8)
- rnuz 115e+u4 | 25
= po 4222+ 0.0
pl -34.92 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

pO
p1

T rnuiLy41e+04 /25
4233+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AT 1nuiLbzie+ud [ 25
4198+ 0.0
-36.75+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 6

pO
pl

-1 nui 340e+04 / 25
4218+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

~ 1 nug. Zzbbe+ud / 25
4241% 0.0
-35.33+ 0.00

TP delay [ns]

TVC(cbch) (1,6, 13

36.55+ 0.00

AT rnun 1 gre+u4 [ 25
— po 4229+ 0.0
p1 -36.55+ 0.

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (1,6,2)

™, po

K™ 1 nuip4ve+u4 /25
4205+ 0.0
-37.58+ 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

= P°

p1

- i z83e+u4 [ 25
4221+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- o

©1nuizusse+ud | 25
4257+ 0.0
-35.12+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

-1 nuiLpobe+u4 / 25
4223+ 0.0
pl -36.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

p1

AT 1 nuiLbr4e+U4 [ 25
4213+ 0.0
-35.98+ 0.00

TVC(c,b ch) (1 6,7

pO
pl

1
100

TP delay [ns]

S nun1.38e+04 [ 25
4220+ 0.0
-35.22+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO
pL

T bue+u4/25

4247+ 0.0
-34.77 + 0.00

[ C =28.76 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,6,15

T nui gbve+ud / 25
4215+ 0.0
-36.29+ 0.00

TP delay [ns]



TVC(cbch)(l?O) TVC(cbch)(l7l) TVC(cbch)(172) TVC(cbch)(173)
A™ 1L z40e+04 [ 25 A~ 1L quye+ud | 25 A” 11 4upe+ud [ 25 A~ 1L pzre+ud | 25
4000 _- PO 4186 + 0.0 4000 - po 4203+ 0.0 4000 __- po 4196 + 0.0 4000 oo, po 4214+ 0.0
pl -35.52+ 0.00 pl -36.42+ 0.00 : pl -35.65+ 0.00 pl -36.7+ 0.0

-1 3000

3000 -1 3000

-1 3000

2000 -1 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 4) TVC(c,b Ch) (1, 7 ) TVC(c,b Ch) (1, 7 6) TVC(c,b Ch) (1, 7 )
Crna137e+04 /25 “nui4/3e+04 / 25 T i rzze+04 [ 25 -1 nui b3ze+u4 / 25
4000 o, pO 4198+ 0.0 4000 e, pO 4196+ 0.0 4000 e, pO 4240+ 0.0 4000 o, pO 4222+ 0.0
pl 369+ 0.0 Pl 36,67 000 [ pl -37.11% 0.00 Pl -37.39 0.00
3000 - 3000 =1 3000 :— —: 3000 -
2000 - 2000 - 2000 3 2000 - -
wol C = 27.10 [ps/c . 1000 . wof C = 26.95 [ps/ch . woof C .
0 EY 00 - 0 0 EY 0 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 8) TVC(c,b Ch) (1, 7 9) TVC(c,b, Ch) (1, 7 10) TVC(c,b Ch) (1, 7 11)
© 1 nuz.40ze+04 / 25 -1 g boge+u4 [ 25 © 1 nuz.480e+04 / 25 T i b/be+u4 / 25
4000 = pO 4220+ 0.0 4000 pO 4221 0.0 4000, DO 4229+ 0.0 4000 P, p0 4240+ 0.0
Pl -36.53: 0.00 Pl -35.86% 0.00 [ PL_ -35.99: 0.00 Pl -36.67: 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(l?l ) TVC(cbch)(l?lB) TVC(cbch)(17l ) TVC(cbch)(1715)

TinuiLsire+ud /25 T suze+u4 [ 25 T zoie+ud [ 25 Ty 2oe+u4 [ 25
4000 e pO 4228+ 0.0 4000 pO 4230£ 00 4000 o, PD 4225+ 00 4000 pO 4233£ 00
pl -35.55+ 0.00 pl -36.47 + 0.00 r pl -35.53+ 0.00 pl -35.74 + 0.00

3000 - 3000 B 3000 — 3000 b

2000 e 2000 T 2000 — 2000 B

1000 4 1000 1000

] lo00F C = 27.98 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

K™ 1 nuin4ne+04 / 25
. po 4175+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (1,84

S C ysz3/25
pO 4215+ 0.0
pl -37.95+ 0.00

5(‘) 10‘0 =
TP delay [ns]
TVC(c,b ch) (1, 8 8

il bz8e+U4 [ 25
po 4205+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T is1e+u4 / 25
pO 4241+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81)

S pnre+ud [ 25
pee,, pO 4203+ 0.0
p1 -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

~nu Zge+u4 [ 25
e, pO 4207+ 0.0
pL -37.47+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

T nu bo3e+ud [ 25
= po 4232+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (1,813

Tinaizrye+ud [ 25
- pO 4222+ 0.0
pl -35.37+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

T Loye+ud /25
- pO 4206+ 0.0
L pl -36.75+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,86

- 3r8e+u4 [ 25
- pO 4210+ 0.0
3 pl -37.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T 1nuizgule+ud / 25
4243+ 0.0
-36.2 + 0.0

TP delay [ns]

TVC(cbch) (1,8 14

T ssse+u4 [ 25
- pD 4239+ 0.0
[ p1 -37.14+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3

AT rnuiL4roe+ud [ 25
- po 4209+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

- nun 331e+04 / 25
- pO 4211£ 0.0
pL -37.26+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

SRR bdée+l}4/25
= po 4237+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

Tonan g sze+ud [ 25
= pO 4239+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0

A7 1 nuiLosoe+ud /25
.. po 4197+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (1,94

= 1 nurLguye+ud / 25
e, pO 4212+ 0.0
pl -36.38 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

© i 3b4e+04 / 25
= po 4183+ 0.0
-34.05+ 0.00

[ C =29.37 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,9,12

T szse+u4 [ 25
= po 4209+ 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,91

AT rnunL3rse+ud [ 25
- po 4207+ 0.0
pl -35.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

=1 nui 0yye+u4 / 25
- pO 4225 0.0
pL -36.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 nup.s28e+U4 [ 25
= po 4215+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,9,13

~ 1 nui sboe+ud / 25
feee. 4197+ 0.0
-34.25+ 0.00

[ C =29.20 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,9,2)

A7 1nun ss1e+04 /25
_- po 4203+ 0.0
L pl -36.34 + 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

-1 nunL309e+04 / 25
- pO 4231 0.0
[ pl -37.06 + 0.00

TP delay [ns]

TVC(cbch) (1, 9 10

©1nuz4n3e+u4 [ 25
4232+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(cbch) (1,914

© i ssve+ud | 25
pD 4202+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,3)

Tonun Lare+u4 /25
= pO 4237+ 0.0
pl -38.21+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

“rnui1/1e+04 /25
- pO 4235 0.0
pL -36.15+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 9

T b‘Jbe+U4/25
= 4224+ 0.0
-34.23+ 0.00

[ C=29.21 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (1,9,15

T inui ss1e+u4 / 25
P, 4211+ 0.0
-34.37 + 0.00

[ C=29.09 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

1 nu zs1e+U4 [ 25

pl -35.98+ 0.00

4199+ 0.0

TP delay [ns]

TVC(cbch) (1,10,4

- i zole+ud / 25
- pO 4187+ 0.0
p1 -34.55:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

-1 nuzglie+ud | 25
e, po 4232+ 0.0
pl -37.37+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

~ i 1obe+u4 / 25
= po 4225+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 10 1)

- i zhae+ud | 25
e, pO 4216+ 0.0
pL -35.95 & 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

- nui z3/e+04 / 25
e pO 4188+ 0.0
pL -35.22:+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 10,9

T nuigazbe+ud [ 25
= po 4237+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (110,13

Tonai11ze+ud [ 25
pO 4230+ 0.0
pl -33.06 + 0.00

[ C=30.25[ps/ch] ™ 1
s *
TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (1,10,2)

TP delay [ns]

TVC(cbch) (1,10,6

A llullme+u4/25
o=, po 4203+ 0.0
- pl -35.03+ 0.00

3000

S 1y/e+u4 [ 25
- pO 4207+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

T nuiLy13e+u4 / 25
- po 4254+ 0.0
- pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (110,14

T s45e+04 / 25
- pD 4230+ 0.0
L pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT 1L suze+ud [ 25
po 4200+ 0.0
p1 -34.72+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (1,10,7

- nun 320e+04 / 25
- pO 4219+ 0.0
pL -35.81% 0.00

1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

~ 1 nuiL pble+ud / 25
pO 4279+ 0.0
-38.4+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,10,15

[ C =29.60 [ps/ch] ]

Tonaizzie+ud [ 25
4214+ 0.0
-33.78 + 0.00

50

1
100

TP delay [ns]



TVC(CbCh) (1,11,0)

4000 [

3000

2000~

wool- C = 26.81 [ps/c 7

A1 nui qpae+04 / 25
po 4203+ 0.0
p1 -37.3+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,114

-1 zbge+u4 [ 25
pO 4207+ 0.0
pl -35.92:+ 0.00

4000 [
3000 - T
2000 T
1000 [~ C T
| L -
50 100
TP delay [ns]
TVC(c,b, ch) (1, 11 8

4000 [

3000

2000

1000

0

T s47e+04 /25
po 4229+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

4000 [,

3000

2000

1000

X~ 1 bzse+ud [ 25
po 4243+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

= po

A1 L agae+Ud | 25
4212+ 0.0
pL -36.55+ 0.00

TP delay

TVC(cbch) (1,11,5

[ns]

=1 nui 498e+u4 / 25
4203+ 0.0
pl -36.16 + 0.00

TP delay

TVC(ebeh)=(1, 11, 9

e, po

[ns]

T nun5obe+u4 [ 25
4256+ 0.0
pl -37.73+ 0.00

TP delay

TVC(cbch) (1,11,13

pO
p1

[ns]

T nuib3oe+ud / 25
4241+ 0.0
-36.66 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (1, 11 2)

[, DO

~ 1w poyve+ud / 25
4228+ 0.0
p1 -37.42+ 0.00

TP delay

TVC(cbch) (1,116

pO
p1

[ns]

T 3/1e+04 / 25
4223+ 0.0
-36.23 + 0.00

TP delay

TVC(eb,eh)=(1, 11, 10

1000

0

[ns]

X~ 1nuz413e+04 [ 25
4274+ 0.0

-37.01+ 0.00

TP delay

TVC(cbch) (1,11, 14

[ns]

X1 ryle+ud [ 25
e, po 4237+ 0.0
[ p1 -37.42+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1L bsse+ud /25
4230+ 0.0
pl -36.45+ 0.00

po

TP delay

TVC(cbch) (1,11,7

feme pO
pl

[ns]

- 1nui4/9e+04 / 25
4232+ 0.0
-36.09 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (1, 11 11

= pO

[ns]

Tinuizz1/e+u4 /25
4277+ 0.0
p1 -37.14+ 0.00

TP delay

TVC(cbch) (111,15

e pO
p1

[ns]

T nui b3soe+ud [ 25
4247+ 0.0
-37.6+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T rnuLusze+u4 [ 25
P pO 4156+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

- i 104e+04 / 25
4174+ 0.0
-35.3+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

1 nuiLyoze+u4 | 25
4199+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,12,12

T 1 oae+ud /25
pO 4196+ 0.0
pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1L usse+ud [ 25
peoe.. po 4165+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (1,125

-1 nui 329e+u4 [ 25
o pO 4187+ 0.0
pL -35.61+ 0.00

50 1(;0
TP delay [ns]

TVCEbeh)=( 1, 12,9

. HUI44943+U4/25
= 4204 0.0
-34.39 + 0.00

[ C =29.08 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (112,13

- ~ 1 nuiLa4o0e+u4 [ 25
= pO 4194+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

AT inuiLisre+u4 /25
- po 4175+ 0.0
L p1 -34.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

-1 nuigz34e+04 [ 25
- pO 4186+ 0.0
3 pl -35.43+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

Tz 1z8e+04 | 25
= po 4225+ 0.0
- pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (112,14

T rnuiLa41e+04 /25
pD 4210+ 0.0
pl -36.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rmuiLzzie+ud [ 25
- po 4181+ 0.0
pl -34.51+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

-1 nun 330e+04 / 25
- pO 4200+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

-/ un 1ace+ud /25
e po 4217+ 0.0
pL -34.78: 0.00

TP delay [ns]

TVC(cbch) (1,12, 15

- AT 1nanLare+ud [ 25
po 4198+ 0.0
-35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,0)

A~ 1 nug oose+u4 / 25

Y 4206+ 0.0
pl -37.63+ 0.00

TP delay [ns]

TVC(cbch) (1,134

[P, pO
pl

-1 bsze+ud [ 25

) _‘
-35.34+ 0.00

4213+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

1 nuiL4sze+04 | 25
- PD 4196+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

T i goye+ud / 25
== pO 4254+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

e, po

pl

AT rnugs3e+ud [ 25
4206+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(c, bch) (1,13,5

PSRl

= o

134e+04 1 25
4226+ 0.0
-35.7 £ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (1,13,9

T nuyrse+ud [ 25
4255+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(cbch) (1,13,13

PSRy

b, 00
p1

b3e+ud / 25
4257+ 0.0
-37.04+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,2)

A~ 1 nun.413e+04 /25

Fom, po 4207+ 0.0
I pl -36.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,136

T/ 1e+04 [ 25

]

- pO 4236+ 0.0
: pl -36.32+ 0.00
r C =27.53 [ps/ch 7

% T

TP delay [ns]

TVC(cbch) (1, 13 10

1 nuiz414e+04 | 25

F DO 4266+ 0.0
3 PL_ -36.48% 0.00

TP delay [ns]

TVC(cbch) (113,14

1 nuiL4z9e+04 | 25

- PD 4239+ 0.0
I pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (1,13,3)

3000

2000

1000

AT rnuaigzze+u4 | 25
4000 e, PO 4229+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(c, bch) (1,137

4000 o

3000

2000

wool- C = 27.42 [ps/ch ]

-1 nun ggle+u4 / 25
PO 4241% 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 ey

3000

2000

1000

T nai roze+04 /25
pO 4261+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

4000 [,

3000

2000

1000

- rnuiLoLie+ud [ 25
pO 4259+ 0.0
pl -37.2+ 0.0

TP delay [ns]



TVC(CbCh) (1, 14 0)

4000

T 1yoe+u4 [ 25
4202+ 0.0
-36.91+ 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (1, 14 4

4000 [,

[ns]

-1 z43e+04 / 25
4179+ 0.0
pl -35.96 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,14,8

[ns]

1 nuiz.448e+04 | 25
4175+ 0.0
-33.31+ 0.00

4000 pD
p1

3000~

2000~

w00 C = 30.02 [ps/ch]

1
0 50 00

TP delay

TVC(c,b ch) (1, 14 12

4000 po

[ns]

- i s12e+04 [ 25
4263+ 0.0
pl -37.04 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

XLl e+ud | 25

. po 4196+ 0.0
pL -36.26  0.00

TP delay [ns]

TVC(c,b Ch) (1, 14 5

- 1o 331e+04 /25
™, DU 4193+ 0.0
pl -37.27+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 14,9

T inuw, 743e+04 / 25
= pO 4201+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 14 13

~ 1 nuiL zyoe+ud / 25
- pO 4256+ 0.0
pl -37.54+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

- PO

X~ 1L slbe+u4 [ 25
4215+ 0.0
p1 -36.83+ 0.00

1
50 100

TP delay

TVC(c,b ch) (1, 14 6

pD
pl

[ns]

T rnuiLz/ye+u4 [ 25
4177+ 0.0
-36.65 + 0.00

TP delay

TVC(Ee b eh)=( 1, 14,10

= F’O

[ns]

- iz 1zbe+ud | 25
4225+ 0.0
p1 -34.96+ 0.00

TP delay

TVC(c,b Ch) (1, 14 14

1000

- PD

[ns]

TrnuiLz41e+04 /25
4264+ 0.0
pl -37.14+ 0.00

TP delay

[ns]

TVC(Cbch) (1,14,3)

A~ 1 nuiL sobe+ud [ 25
4232+ 0.0
-37.2+ 0.0

4000 fou po
p1

3000

2000

w0l C = 26.88 [pS/C

1 1
50 100

TP delay

TVC(c,b Ch) (1, 14 7

4000 o pO

[ns]

- /i alae+ud [ 25
4201+ 0.0
p1 -36.33+ 0.00

3000

2000 -

1000 C

50 160
TP delay

TVC(ehch)=(1, 14, 11

4000 pO

pl

[ns]

Tinuiar3e+u4 /25
4215+ 0.0
-34.39 + 0.00

3000 -

2000 =

woF C = 29.07 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (1, 14 15

4000 [,

[ns]

- zsde+ud [ 25
4257+ 0.0
p1 -36.73+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,15,0)

~ i, s40e+U4 [ 25
F o PO 4208+ 0.0
pl -38.1% 0.0

TP delay [ns]

TVC(cbch) (1,154

=i bu1e+u4 / 25
- pO 4227+ 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T nuiLb1be+u4 / 25
[ pO 4228+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12

“nun g aye+ud [ 25
- pO 4235+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(cbch) (1,15,1)

4000 (S

AT L 2ye+ud | 25
', LY 4210+ 0.0
pl -37.42+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (1,155

T 1.43e+04 [ 25
4000 fon DU 42312 00
Pl -36.34% 0.00

3000 -

2000

1000 [~ C

1
50 100

TP delay [ns]

TVC(c, bch) (1, 15 9

4000 [, pO

~ 1 nug.z9ve+ud 25
4261+ 0.0
-36.48 + 0.00

pl

3000

2000

1000

TP delay [ns]

TVC(cbch) (115,13

4000 [,

T inai so3e+ud [ 25
4232+ 0.0
-35.56 + 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,15,2)

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

TrnaiL4r3e+ud [ 25
[ = DO 4231+ 0.0
r pl -38.33+ 0.00

3000

-1 nui344e+04 / 25
- pO 4232+ 0.0
3 pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

© 1 nuz,ubbe+ud / 25
= DO 4275+ 0.0
I pl -37.27+ 0.00

TP delay [ns]

TVC(cbch) (115,14

T z41e+04 [ 25
- PD 4239+ 0.0
I pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (1,15,3)

AT 1 nuan L4pe+ud [ 25
4220+ 0.0
pl -36.94 + 0.00

4000 [Su.

po

3000

2000

1000

TP delay

TVC(c, bch) (1,157

4000 fam pO

[ns]

- nui zole+u4 / 25
4234+ 0.0
pl -35.42 % 0.00

3000

2000 -

wol C = 28.24 [ps/ch

TP delay

TVC(eheh)=(1, 15, 11

4000 pO

pl

[ns]

T nui oy /e+u4 [ 25
4293+ 0.0
-36.45+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,15,15

4000 ey

[ns]

T 31be+u4 / 25
4238+ 0.0
pl -35.35+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0

X~ 1 4o3e+U4 [ 25
Fomee, PO 4208+ 0.0
pl -37.7+ 0.0

I C=26.52 [ps/c 7

50 100

TP delay [ns]

TVC(cbch) (2,0,4

- i zz3e+05 / 25
P, pO 4194+ 0.0
pl -34.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

©rnuiLyose+u4 / 25
- PD 4190+ 0.0
pl -35.11+ 0.00

TP delay [ns]

TVC(cbch) (2,0,12

T nuiLb4ze+04 / 25
- PO 4208+ 0.0
pl -34.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,01

AT 1 nuiL, rube+u4 / 25
[P, LY 4223+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2,0,5

'V”Ulibae+u5/25
o, po 4198+ 0.0
-34.56 + 0.00

[ C =28.93 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 0,9

~ 1 nug boye+ud 25
= DO 4202+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (2,0,13

T olge+u4 / 25
PO 4223% 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,0,2)

X~ 1w ryve+U4 [ 25
[Fonen, po 4216+ 0.0
I pl -36.59+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,0,6

=1 nuiL201e+05 / 25
- pO 4215+ 0.0
[ Pl -3546+ 0.00

TP delay [ns]

TVC(cbch) (2, 0 10

1000

0

1 nuzbove+u4 [ 25
- DO 4228+ 0.0
r pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (2,0,14

~ i pbze+ud [ 25
- PD 4220+ 0.0
F pl -35.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3

A~ 1 nuiLbyoe+u4 / 25
F=. PO 4209+ 0.0
Pl -36.37+0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

-1 nui Uz4e+U5 / 25
- PO 4214+ 0.0
pl -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (2, O

SRR mbe+u4/25
- pO 4238+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

T s1ve+u4 [ 25
- pO 4207+ 0.0
pl -34.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

A~ 1, fooe+u4 [ 25
p— po 4224+ 0.0
p1 -40.39 + 0.00

=
50 100

TP delay [ns]

TVC(cbch) (21,4

- UL 43ne+u4 [ 25
- po 4180+ 0.0
pl -35.41+ 0.00

- c =
% o
TP delay [ns]
TVC(c,b ch) (2, 1 8

Sz Sizerud 25
po 4218+ 0.0
p1 -36.92:+ 0.00

TP delay [ns]

TVC(cbch) (21,12

- 1 i z8se+u4 [ 25
po 4207+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

A~ 1 nuig,zsze+ud [ 25
— po 4218+ 0.0
p1 -39.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

= nun 17420404 /25
- po 4195+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (21,9

.7 ae+0d [ 25
pO 4245+ 0.0
p1 -37.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, l 13

1w 1 4ze+ud | 25
po 4229+ 0.0
pl -36.57 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

X~ 1 g bave+U4 [ 25
po 4223+ 0.0
p1 -37.96 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 1,6)
~nuiL 534e+04 / 25
Foeee pO 4200+ 0.0
L pl -35.88+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

- 1.5ze+08 125
pO 4245 0.0
p1 -35.97:+ 0.00

TP delay [ns]

TVC(cbch) (21,14

-1 sYre+u4 [ 25
pD 4224+ 0.0
p1 -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

A~ 1 g, 383e+U4 [ 25
po 4231£ 0.0
pL -37.98:+ 0.00

TVC(c,b ch) (2 1,7

| -
100

TP delay [ns]

= Ui Sgoe+ud / 25
po 4200+ 0.0
p1 -35.79+ 0.00

TVC(c,b ch) (2,1,

100
TP delay [ns]

T bwe+u4/25
pO 4250+ 0.0
-36.7 £ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (2, 1 15

Tonaianie+rud /25
pO 4206+ 0.0
p1 -35.98 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

4o1e+04 /25
4177+ 0.0
-35.14 + 0.00

A1

' po
pl

TP delay [ns]

TVC(cbch) (22,4

P, PO
pL

S i1 58e+04 /25
4199+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

B pD

1 nuiLgzoe+u4 / 25
4191+ 0.0
-35.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

T L poe+ud /25
4238+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

432e+U4 | 25
4190+ 0.0
-36.33+ 0.00

PSR

=, po

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

-1 nui 3y3e+u4 / 25
4184+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

pO
pl

T nug sble+ud / 25
4235+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(cbch) (2,213

~ 1 nuiLpuze+ud / 25
4223+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

A1

™, po

pl

oob4e+U4 /25
4195+ 0.0
-36.8+ 0.0

TP delay [ns]

TVC(cbch) (2,2,6

pO
p1

- i b30e+u4 / 25
4200+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2, 10

= 90

S rnuz1i/e+ud | 25
4229+ 0.0
-36.13+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,2, 14

A1,

124e+04 125
4229+ 0.0
-37.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

- PO

p1

AT 1L oune+ud [ 25
4206+ 0.0
-37.69+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

pO
pl

- nui br4e+04 [ 25
4203+ 0.0
-37.03+ 0.00

100

TP delay [ns]

TVC(c,b ch) (2, 2

= pO

T, /bﬂe+U4/25
4222+ 0.0
-35.47 + 0.00

pl

TP delay [ns]

TVC(C, bch) (2,215

T inuipzie+ud / 25
4224+ 0.0
-35.81+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

A7 1 nun sose+ud / 25
.. po 4208+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (23,4

- i babe+u4 / 25
e, pO 4210+ 0.0
pl -36.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

i b11e+04 1 25
e po 4228+ 0.0
p1 -37.1% 0.0

TP delay [ns]

TVC(cbch) (2,312

©rnuiLgs4e+04 [ 25
= po 4230+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

AL 4a1e+U4 ] 25
Fee.. po 4216+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

=1 1L 4upe+u4 / 25
e, pO 4198+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

T nug. rz9e+u4 /25
= po 4259+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (2,313

-1 1 4be+ud | 25
= po 4228+ 0.0
pl -34.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,3,2)

T L soe+ud /25
_- pO 4212+ 0.0
o pl -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

-1 nuiL390e+04 / 25
e pO 4219+ 0.0
[ pl 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (2, 3 10

©nuzb3pe+u4 [ 25
-, po 4271+ 0.0
L -36.3+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,3 14

Ty zae+ud [ 25
. pD 4228+ 0.0
L pl -34.81+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

AT rnuiLsiie+ud /25
- po 4209+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

- 1nui4z1e+04 / 25
- pO 4199+ 0.0
pL -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T wye+u4/25
- po 4260+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

T nuiagse+ud [ 25
= pO 4230+ 0.0
p1 -36.08 + 0.00

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
A 11w sube+u4 / 25 A~ 1 bzye+ud | 25 A” 1L 484e+04 [ 25 A~ 1L srse+ud | 25
4000 fme, po 4206+ 0.0 4000 [, po 4192+ 0.0 4000 e, po 4199+ 0.0 4000 fe, po 4222+ 0.0
pl -35.08 + 0.00 pl -34.61+ 0.00 r pl -35.43+ 0.00 pl -36.46 + 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,47

- 1 1uiL445e+04 / 25 S nun1.43e+04 /25 -1 nur bEye+ud [ 25 - 1nui 48/e+04 / 25
4000 pO 4211+ 0.0 4000 e, pO 4220£ 0.0 4000 e, pO 4231+ 0.0 4000 e, pO 4228+ 0.0
pl -35.94  0.00 pL -35.99 + 0.00 3 pl -36.92:+ 0.00 pL -36.43 + 0.00

3000 1 3000 - 3000 [~ B 3000 1

2000 — 2000 - 2000~ - 2000 4

1000 - 1000 - 1000 r C=27.09 [pS/Ch ] 1000 C -

-- --
1 - 1 [
0 50 T00 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

©rnuiLy1se+ud / 25 S Hm44::93+u4/25 T rnubloe+ud /25 T 95=e+u4/25
4000 pO 4246+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4277+ 00 4000 4282+ 0.0
Pl -38.44% 0.00 Pl -37.48% 0.00 [ PL_ -37.35% 0.00 377+ 0.0

-1 3000

3000~ 1 3000 -1 3000

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000 -1 1000 - 1000

. - [
-
% 50 00 0 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebe=(2 4, 12) TVC(ebeh)=(2, 4, 13) TVC(Ebe=(2 4, 14) TVC(ebeh)=(2, 4, 15)
T L doe+ud /25 T inaiazse+ud [ 25 T gure+u4 /25 T nuiasoe+ud [ 25
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3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,3,1

AT 1 nuiLZioe+ud [/ 25
- Y 4198+ 0.0
p1 -36.63 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

“rnuan 1.14e+04 [ 25
- DU 4224+ 0.0
Pl -35.44+0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

T nugp1se+ud / 25
- DO 4221+ 0.0
pl -34.82 + 0.00

TP delay [ns]

TVC(cbch) (3,313

~ 1 nuiL bope+ud 25
4235+ 0.0
-36.1+ 0.0

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (3,3,2)

X~ 1w 1sze+04 [ 25
[, po 4214 0.0
3 Pl -36.08+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

-1 nuiL29pe+04 / 25
- pO 4233+ 0.0
3 Pl -35.68+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T nuz, 139e+04 / 25
- DO 4250+ 0.0
F pl -35.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

1000

~ i poyze+ud [ 25
- PD 4218+ 0.0
L p1 -36.04 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT 1 nuiL,185e+U4 / 25
- po 4214+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

- nun 31/e+04 / 25
PO 4249+ 0.0
pL -34.67 + 0.00

[ C =28.84 [ps/ch] ]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

S g bse+u4/25
- pO 4251% 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (33,15

- i ra4e+04 [ 25
PO 4240% 0.0
pl -36.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

K™ 1 nui obse+ud / 25
Peee.. po 4194+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (34,4

- i 4pbe+04 / 25
- pO 4229+ 0.0
362+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

1 nuig.yove+u4 / 25
= pO 4211+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,4,12

T, r5ze+04 [ 25
= po 4238+ 0.0
pl -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT 1 nuiLbloe+ud /25
=N po 4191+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

- nun bzge+u4 [ 25
- pO 4234+ 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

~ 1 nuiy.y4ae+ud [ 25
= po 4230+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (3,4,13

TinuiLorse+ud [ 25
- pO 4224+ 0.0
pl -37.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,4,2)

A7 1 nui szoe+u4 /25
- po 4188+ 0.0
[ p1 -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

T i r3ze+04 [ 25
- pO 4242+ 0.0
[ pl -37.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

T 3.30e+u4 /25
- po 4241+ 0.0
- pl -35.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

~ i 340e+04 / 25
= pD 4224+ 0.0
L p1 -37.03+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1 nuiL, (48e+U4 | 25
oes, po 4207+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- nui /8ae+u4 / 25
- pO 4249+ 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 4

T, uue+u4/25
- pO 4245+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

Tonasiie+rud /25
- po 4226+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A1 z83se+04 [ 25
Frcea. po 4202+ 0.0
p1 -35.37+ 0.00

TP delay [ns]

TVC(cbch) (3,54

T b8 /e+u4 [ 25
. pO 4215+ 0.0
p1 -35.48:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (3 5,8

1 szerua 125
- pD 42413 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (3,5,12

po
p1

- 1 i pULe+u4 [ 25
4295+ 0.0
-36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT nuiL31se+u4 25
I e po 4228+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(ebch)=(3,5,5

Cnun 157e+04 125
e, pO 4205+ 0.0
pL -34.81% 0.00

[ C =28.73 [ps/ch]

50 105
TP delay [ns]

TVC(c,b ch) (3 59

T nai g ze+u4 [ 25
- po 4270+ 0.0
p1 -35.49 £ 0.00

TP delay [ns]

TVC(Eben)=(3,5, 13

TinuiLpl/e+ud /25
pO 4283+ 0.0
pl -36.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

]

:

1000;— C =28.53 [ps/ch] - ‘
| + s

4000

3000

2000

TVC(cbch) (3,52)

TP delay [ns]

TVC(cbch) (3,56

1 1 zserud 125
_l pO 4233+ 0.0
[ p1 -36.03:+ 0.00

3000

-1 nurLbyze+ud [ 25
fo, pO 4208+ 0.0
[ p1 -34.48+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

-1 2. 2se+ud [ 25
- pO 4284+ 0.0
[ p1 -35.05+ 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

- 1 i 584e+04 [ 25
pD 4283+ 0.0
p1 -36.92:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

A~ 1 nuiL,3ube+ud / 25
- po 4241% 0.0
pL -35.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nun bze+u4 / 25
- pO 4220+ 0.0
p1 -34.47 + 0.00

[ C =29.01 [ps/ch]

_L

50 0%
TP delay [ns]

TVC(c,b ch) (3, 5

T aube+u4/25
- po 4290+ 0.0
-35.16 + 0.00

[ C =28.44 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

- 1 nuiL.adse+Ud | 25
- po 4295+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

AT 1nuiz1ae+04 /25
.. po 4176+ 0.0
p1 -34.29+ 0.00

TP delay [ns]

TVC(cbch) (36,4

-1 nuiL348e+04 / 25
- pO 42411 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(cbch) (3 6,8

T, r1ze+04 | 25
4229+ 0.0
-36.7 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,6,12

TrnuiLgsre+u4 [ 25
= po 4222+ 0.0
pl -35.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT rnuLsize+ud [ 25
Fee, po 4188+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui Zoye+u4 / 25
- pO 4257+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nug. 744e+04 / 25
= po 4256+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (3,6,13

T inai148e+ud [ 25
pO 4234+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

TrnunLs1e+u4 /25
-, po 4204+ 0.0
L pl -35.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

- rnui331e+04 / 25
- pO 4259+ 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (3, 6 10

1 nuiLyove+ud | 25
I DO 4250+ 0.0
L p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

~ i soe+u4 / 25
F pD 4246+ 0.0
r -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT rnuiLsoie+ud [ 25
- po 4193+ 0.0
pl -34.74+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui 4o8e+04 / 25
- pO 4262+ 0.0
pL -38.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

Ty aue+u4/25
= po 4265+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T nai szze+u4 /25
po 4240+ 0.0
-35.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

AT 1nuizyie+u4 /25
4197+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (37,4

- 1 nuiL19ve+u4 / 25
4205+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

1 nuiLYope+u4 / 25
PD 4213+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLgive+ud / 25
pO 4226+ 0.0
pl -34.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

XL dsoe+ud [ 25
e po 4201% 0.0
p1 -35.14 % 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

- nui Zg/e+u4 / 25
4195+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nun.4/9e+u4 [ 25
po 4240+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

T inuiasse+ud [ 25
== pO 4209+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

A7 1 nui psze+ud /25
_- po 4217+ 0.0
o pl -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

-1 z8ye+u4 [ 25
- pO 4213+ 0.0
[ pl 36+ 0.0

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

©1nuz Zzobe+u4 | 25
o=, po 4255+ 0.0
o pl -36.92+ 0.00

TP delay [ns]

TVC(cbch) (37,14

~ 1L zope+u4 [ 25
= pD 4210+ 0.0
L p1 -34.54+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1 nuiL4pse+ud [ 25
=, po 4217+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nun 383e+04 / 25
- pO 4227+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

Tz, me+u4/25
e pO 4254+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

Tinaisr1e+u4 /25
- po 4216+ 0.0
p1 -35.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

T L44e+04 /25
pO 4220+ 0.0
pl -37.48+ 0.00

TP delay [ns]

TVC(cbch) (3,84

Tanun1zre+04 /25
pO 4223+ 0.0
p1 -35.46+ 0.00

e 4
% T
TP delay [ns]
TVC(cbch) (3 8,8

©1nuiz4y1e+u4 [ 25
po 4250+ 0.0
pl -38.38 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

1L g4o4e+04 / 25
pO 4239+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

x- 1L 2zae+U4 | 25
., po 4198+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

- nu 3z8e+u4 [ 25
pO 4210 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

T nun gzbe+u4 [ 25
po 4266+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (3,8,13

T inuia1se+ud [ 25
pO 4234+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

T L44e+04 /25
- pO 4200+ 0.0
L pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

-1 Ui 3pbe+u4 / 25
- pO 4218+ 0.0
[ pl -35.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

T rnuzb41e+04 /25
-, po 4272+ 0.0
- pl -38.09 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,814

TrnuiLzize+u4 [ 25
- pD 4232+ 0.0
[ p1 -36.47 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiLo41e+U4 /25
e, po 4231+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

- nui br4e+04 [ 25
- pO 4239+ 0.0
p1 -36.24 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

AN uwe+u4/25
- po 4276+ 0.0
pl -38.21+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

T nuiquse+ud [ 25
e po 4243+ 0.0
p1 -35.82+ 0.00

TP delay [ns]



TVC(cbch)(390) TVC(cbch)(391) TVC(cbch)(392) TVC(cbch)(393)
AT inuaiL s/ re+04 /25 AT rnunLzsie+ud [ 25 AT 1nuiLorye+ud /25 AT rnuiLzyse+ud [ 25
4000 42154 0.0 4000 fmee,, po 4232+ 0.0 4000 f, po 4232+ 0.0 4000 fme, po 4230+ 0.0
-35.6+ 0.0 pl -36.1+ 0.0 F pl -35.87 + 0.00 pl -35.01+ 0.00

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 - 1000 = 1000 N 1000

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

Trnung 2:;&9+UA 125 ~nur 24SE+U4/25 T 2‘:}be+U4 125 T J)U/EH)4125
4000 [, pO 4209+ 0.0 4000 [, pO 4217+ 0.0 4000 e, pO 4232+ 0.0 4000 fs pO 4242+ 0.0
pl 3504000 Pl 36113000 [ PL_ -36.01% 0.00 Pl 3512000

3000 ] 3000 [ E 3000 ] 3000 - 4

2000 ] 2000 [ E 2000 — — 2000 ]

- - 1000 [~ = N 1000 [~ = — L _ ]

1000f C C=27.69 [pS/Ch FrC=27.77 [pS/Ch . 1000f C = 28.47 [pS/Ch
1 ' o 1 - 1 [ 1 -
50 00 50 100 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T rnuz3ure+u4 [ 25 ~ 1 nub.3y0e+u4 | 25 T a8 r9e+u4 | 25 T nuiz129e+04 / 25
4000 o, pO 4216+ 0.0 4000 pO 4228+ 0.0 4000 fo DO 4250+ 0.0 4000 o, p0 4256+ 0.0
pl -34.98 + 0.00 pl -35.55 + 0.00 F pl -34.96 + 0.00 pl -36.02+ 0.00

-1 3000

3000 N 3000 - 3000 1

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(cbch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T i pzoe+u4 / 25 ~ 1 nuiLp4oe+ud / 25 T rure+u4 [ 25 T 1 nui pbye+ud / 25
4000 = pO 4271 0.0 4000 [, pO 4249£ 0.0 4000 o, PD 4255 0.0 4000 o, po 4248 0.0
pl -36.62+ 0.00 pl -36.77+ 0.00 r pl -37.9+ 0.0 pl -37.03+ 0.00

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

©riuiL4o0e+U4 [ 25
pO 4220+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]

TVC(cbch) (3,10,4

- 1nuiLaz9e+04 [ 25
pO 4205+ 0.0
pl -36.82:+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

©1nuizulge+u4 | 25
po 4251+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (310,12

T rnuiLgi4e+04 / 25
pO 4235+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

AT 1nun 1 goe+ud [ 25
po 4221+ 0.0
pl -37.98+ 0.00

1=
100

TP delay [ns]

TVC(c, bch) (3,10,5

-1 bo3e+ud / 25
pO 4213+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

T nug s ve+ud [ 25
po 4264+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (310,13

[ C =29.12 [ps/ch] ]

T nai soye+ud 25
4234+ 0.0
-34.34+ 0.00

50

il
100

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (3,10,2)

K™ 1 nuiooze+V4 /25
po 4219+ 0.0
pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (3,10,6

- 1nuiL4p1e+04 / 25
pO 4225+ 0.0
pl -36.66 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (3, 10 10

T, foze+04 | 25
DO 4277+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (3.10,14

T szoe+u4 [ 25
pD 4236+ 0.0
pl -35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3, 10 3)

S 14e+04 /25
pO 4220+ 0.0
pl -36.06 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (3,10,7

rc

“nun1.58e+04 [ 25
pO 4233+ 0.0
pL -38.01% 0.00

100
TP delay [ns]

TVC(cbch) (3, 10 1

T nai/14e+04 /25
po 4275+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (3,10,15

T nuis19e+u4 [ 25
po 4225+ 0.0
p1 -35.62+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

K71 nui sobae+u4 / 25
4187+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (3,11,4

Tanu 1.3e+04 /25
e, pO 4170+ 0.0
pl -35.32:+ 0.00

TP delay [ns]

TVC(cbch) (3, 11 8

T nuig.pzve+u4 | 25
= po 4238+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 12

X1 z5e+04 /25
po 4219+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (3,11,1)

=, po

AT rnuLsize+ud [ 25
4192+ 0.0
pl -35.74+ 0.00

1
100

TP delay [ns]

TVC(cbch) (31,5

-1 nui zgle+u4d / 25
pese, 4175+ 0.0
-33.37 + 0.00

[ C =29.96 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(eb.eh)=(3, 11, 9

T nue.y/3e+ud [ 25
= po 4253+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (311,13

T inai1use+ud / 25
pO 4202+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (3, 11 2)

b pO

~ i 1se+u4 / 25
4190+ 0.0
-36.4+ 0.0

pl

TP delay [ns]

TVC(cbch) (3116

-1 z83e+04 [ 25
F PO 4200+ 0.0
- pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 10

X1z u31ie+ud [ 25
- po 4244+ 0.0
L pl -34.62 + 0.00

- C = 28.89 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,11, 14

X- 1 zz1e+04 [ 25
pee. po 4197+ 0.0
L p1 -34.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3, 11 3)

o pO

-1 i baye+ud [ 25
4195+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (311,7

— -1 nui 2u3e+u4 / 25
e, pO 4185+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(Ebeh=(3, 11, 11

T nuiL s oe+u4 /25
4266+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (311,15

-1 nuiybye+ud / 25
- pO 4207+ 0.0
p1 -35.17+ 0.00

TP delay [ns]



TVC(CbCh) (4,0,0) TVC(CbCh) (4,0,1) TVC(CbCh) (402) TVC(CbCh) (403)
K1 d1ve 04 ] 25 X 1L dsoe+ud | 25 i Lzoevud 25 i sz e+0d 125
4000, po 4206+ 0.0 4000, po 4207+ 0.0 4000, po 4217+ 0.0 4000 fes po 4225+ 0.0
Pl -36.46+ 0.00 Pl -36.12 0.00 [ Pl -35.91% 0.00 Pl -35.770.00

3000

N 3000 -1 3000 - 3000 -

2000 -1 2000 - 2000 - 2000

1000 . 1000 4 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(4,0,4) TVC(eb.eh)=(4,0,5) TVC(ebeh)=(4,0,6) TVC(eb.eh)=(4,0,7)
- rnun3z9e+04 / 25 - nun 318e+u4 / 25 “ L 3r5e+04 [ 25 - nun bzze+u4 [ 25
4000 4222+ 0.0 4000 pO 4236+ 0.0 4000 fem, pO 4246+ 0.0 4000 fo, pO 4246+ 0.0
-35.9% 0.0 -36.83:+ 0.00 [ pl -36.31 0.00 Pl -36.49: 0.00
3000 E 3000 e a000|- ] 3000 - -
2000 _ 2000 - 2000 — — 2000 g
. [ ]
1000 B 1000 7] woor C = 27.54 [ps/ch 7] woor C ]
1 1 " 1 1 ~- 1 1 - o 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(4,0,8) TVC(Eebeh)=(4,0,9) TVC(ebeh)=(4, 0, 10) TVC(eb,oh=(4, 0, 11)
©1nuz,uzae+u4 [ 25 Ty ryoe+u4 [ 25 T a2 yge+u4 [ 25 - i gybe+u4 [ 25
4000 e, pO 4230+ 0.0 4000 e, pO 4260+ 0.0 4000 DO 4258+ 0.0 4000 [l p0 4269+ 0.0
Pl -36.77: 0.00 Pl -37.08%0.00 [ PL_ -35.34%0.00 Pl -36.47:0.00

3000 B 3000 — 3000 - 3000 e

2000 E 2000 ] 2000

2000

1000 -1 1000 1000

1000

0, 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(40l ) TVC(cbch)(4013) TVC(cbch)(401 ) TVC(cbch)(4015)
T inug,zzoe+ud [ 25 T g1e+u4 /25 Tnug.433e+u4 [ 25 -1 nug.uYoe+u4 / 25
4000 e pO 4233+ 0.0 4000 [ pO 4232 00 4000 [, PD 4228+ 0.0 4000 [, pO 4236 00
pl -35.57 + 0.00 pl -35.87+ 0.00 r pl -35.78+ 0.00 pl -35.63+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 1 2000 - 2000

1000 - 1000 E 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,0)

X~ 1 1o8e+U4 [ 25

po 4207+ 0.0
pL -36.52 0.00

TP delay [ns]

TVC(cbch) (4.1,4

s 8610/ 25
Fause po 4196+ 0.0
pl -34.62 + 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(4, 1,8

< 1l1verua /25
- pD 4235+ 0.0
pl -36+ 0.0

TP delay [ns]

TVC(cbch) (41,12

T 143e+04 /25
= po 4213+ 0.0
-34.05+ 0.00

[ C =29.37 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1

A 1 i Soae+ud | 25
Fow po 4201+ 0.0
pL -35.38+ 0.00

TP delay [ns]

TVC(cbch) (41,5

“rnar 9103725
k. pO 4204+ 0.0
p1 -33.91# 0.00

[ C =29.49 [ps/ch] ]

50 150
TP delay [ns]

TVC(c,b ch) (41,9

T inug. ro/e+u4 /25
- pO 4246+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, l 13

T nuiusze+ud [ 25
= pO 4229+ 0.0
pl -34.67 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,2)

2 P

X~ 1L zose+u4 | 25
4227+ 0.0

TP delay [ns]

TVC(cbch) (41,6

p1 -36.59:+ 0.00

- C = 30.65 [ps/ch] ™. 1

50 10'0
TP delay [ns]

TVC(ebeh)=(4, 1, 10

S T wssal 25
- pO 4205+ 0.0
[ p1 -32.63+ 0.00

3000

- iz z23e+04 | 25
- pO 4256+ 0.0
[ pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (41,14

T rnuiLu4se+u4 [ 25
F-. pD 4210+ 0.0
L pl -34+ 0.0

F C = 29.41 [ps/ch]

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3

A~ 1 nuiL 3obe+ud [ 25
- po 4222+ 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(cbch) (41,7

s 9213125
= po 4208+ 0.0
p1 -32.93+ 0.00

[ C=30.37 [ps/ch] ™ 7]
- o
TP delay [ns]

TVC(c,b ch) (4, l

1)
T nuiasbe+ud [ 25
- pO 4252+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 1 15

- 1 ive+ud | 25
o, pO 4214+ 0.0
pL -34.52:+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,0)

Lroe+u4 /25
4180+ 0.0
-36.34+ 0.00

A1

TVC(cbch) (4,24

pO
pL

1
50 100

TP delay [ns]

- i 381e+04 / 25
4204+ 0.0
-36.53+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (42,8

T L/ re+u4 /25
4199+ 0.0
-35.65+ 0.00

TP delay [ns]

TVC(cbch) (4,212

L puze+u4 / 25
4223+ 0.0
-37.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (4,2,1)

- po

A7 1 nuiLzobe+ud [ 25
4180+ 0.0
-36.5 + 0.0

pl

TP delay [ns]

TVC(c,b ch) (4 2,5

-1 1L 49pe+04 / 25
4197+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (4 2,9

e, po

pl

- nai guse+ud | 25
4232+ 0.0
-36.24+ 0.00

TP delay [ns]

TVC(cbch) (4,213

<1 nuiL bgoe+ud / 25
4209+ 0.0
-36.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,2,2)

e, po

AT inuizr1e+04 /25
4189+ 0.0
-36.67 + 0.00

pl

TP delay [ns]

TVC(cbch) (4,2,6

“rnun 1 bbe+ud [ 25
4210+ 0.0
-36.77 + 0.00

- PO

[ o

F ¢ =27.20 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (4,210

= o

~ 1 nuzpooe+ud | 25
4244+ 0.0
-36.19+ 0.00

pl

TP delay [ns]

TVC(cbch) (4,2 14

T 34ze+04 [ 25
4215+ 0.0
-36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3)

e, po

AT rnuiL4zie+ud [ 25
4206+ 0.0
-36.82+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (4 2,7

pe=e. pO
pl

-1 nui b4se+u4 / 25
4219+ 0.0
-36.13+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4, 2

T, iUée+U4/25
4248+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(C, bch) (4,215

T inaiazze+u4 [ 25
4209+ 0.0
-35.44+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,0

T rugurse+ud [ 25
P, pO 4173+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (43,4

- rnuiLay1e+u4 / 25
Fe pO 4187+ 0.0
pl -36.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

T 3.use+u4 /25
= po 4219+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(cbch) (4,312

T ryre+u4 [ 25
= po 4231+ 0.0
pl -37.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31)

S gyse+ud [ 25
pee,, pO 4172+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,5

=1 nui Se1e+ud / 25
= po 4191+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

~naiUg/e+ud [ 25
= po 4228+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (4,3,13

Tonan L B3e+ud [ 25
= pO 4219+ 0.0
pl -36.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,3,2)

X~ 1 nuguLe+u4 /25
P po 4193+ 0.0
L p1 -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (4,3,6

“ b rge+u4 [ 25
- pO 4223+ 0.0
[ pl -37.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 3 10

0

T, r18e+u4 | 25
= po 4239+ 0.0
- pl -37.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,3 14

T, rzoe+u4 | 25
- pD 4227+ 0.0
[ p1 -37.42+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3)

AT 1 nuis.bzoe+ud [ 25
- po 4191+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

=1 nui Sv4e+u4 | 25
= po 4215+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 3

T, 151e+u4/25
- pO 4249+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(C, bch) (43,15

T inai rule+ud / 25
= pO 4236+ 0.0
p1 -37.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0

K™ 1nuiLoroe+ud /25
P po 4174+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (4.4,4

T i rzze+04 | 25
. pO 4202+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(eb,ch)=(4, 4,8

T rnuzzz1e+04 | 25
- po 4238+ 0.0
pl -37.86+ 0.00

TP delay [ns]

TVC(cbch) (44,12

~ L yzoe+u4 / 25
= po 4216+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,1

AT 1 nuiLbuLe+ud /25
oo, po 4172+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (4 4,5

-1 nui g1be+u4 / 25
F . pO 4216+ 0.0
pL -37.97+ 0.00

(LA
50 100
TP delay [ns]

TVC(c,b ch) (4 4,9

T nup.zg3e+ud / 25
- pO 4251+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(c,b ch) (44,13

T inai szze+ud [ 25
4229+ 0.0
-35.61+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,4,2)

AT 1nun rsse+04 /25
P, po 4199+ 0.0
L pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (44,6

“rnuLysle+ud / 25
3 pO 4217+ 0.0
[ pl -37.88+ 0.00

TP delay [ns]

TVC(cbch) (44,10

Tz rge+u4 /25
-, po 4258+ 0.0
- pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (4,4,14

T g1oe+u4 / 25
. pD 4221+ 0.0
L pl -34.62+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4.4,3)

T Lsze+ud [ 25
e, pO 4205+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

- 1nu 1ule+u4 / 25
4213+ 0.0
-36.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 4

1)
Tinuz1u/e+u4 /25
4265+ 0.0
-37.61+ 0.00

50 100

TP delay [ns]

TVC(C, bch) (44,15

T nui pose+ud / 25
= pO 4221+ 0.0
p1 -35.29+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0

X~ 1w zioe+U4 [ 25

e po 4184+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (4,54

- i Z84e+04 [ 25
== po 4187+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(cbch) (4 5,8

1 nuig.gEoe+U4 / 25
- pO 4240+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

T i so4e+04 / 25
= po 4230+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,51

A7 1 nuiLosoe+ud [ 25
F . po 4192+ 0.0
pl -38.02+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

=1 nuiL 2u0e+ud | 25
== po 4191+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (4 59

~ 1 nub.o3Ye+u4 / 25
= po 4265+ 0.0
p1 -37.54.+ 0.00

TP delay [ns]

TVC(cbch) (4,5,13

T nui zoge+ud / 25
= pO 4229+ 0.0
pl -34.79 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (4,5,2)

A7 1 nui440e+04 /25

e, po 4204+ 0.0
L pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (4,56

-1 nunL38be+04 / 25
- pO 4203+ 0.0
[ pl -36.28+ 0.00

TP delay [ns]

TVC(cbch) (4, 5 10

0

T zpge+ud /25
- po 4271+ 0.0
- pl -37.2+ 0.0

TP delay [ns]

TVC(cbch) (4,5,14

T rnuiLzs1e+u4 [ 25
4241+ 0.0
-36.01+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3)

AT rnuiLgze+ud [ 25
poee, po 4210+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (4 57

-1 nui bgae+u4 [ 25
- pO 4207+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

T ‘Jb/e+U4/25
- po 4267+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(C, bch) (4,5,15

T nui zgse+ud [ 25
= po 4230+ 0.0
p1 -35.01% 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,0)

K71 nui syoe+u4 / 25

4183+ 0.0
-37.71+ 0.00

-
50 100

TP delay [ns]

TVC(cbch) (46,4

P, PO
pL

-1 539e+u4 [ 25
4197+ 0.0
-37.24+ 0.00

TP delay [ns]

TVC(cbch) (4 6, 8

T rnuiLys/e+u4 [ 25
4217+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(cbch) (4,6,12

pO
p1

T rnuiLpL/e+u4 [ 25
4235+ 0.0
-36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,1)

F PO

A 1L 4use+ud [ 25
4199+ 0.0
pl -38.41+ 0.00

TP delay

TVC(c,b ch) (4 6,5

- DU

pl

[ns]

=1 U bobe+u4 [ 25
4189+ 0.0
-37.21+ 0.00

TP delay

TVC(c,b ch) (4 6,9

e, po

[ns]

T nai1z3e+u4 [ 25
4225+ 0.0
pl -36.24 + 0.00

TP delay

TVC(cbch) (4,6,13

= po

p1

[ns]

-1 nuiL pbye+ud / 25
4223+ 0.0
-36.3+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

TVC(cbch) (4,6,2)

F - PO

A7 1 nui4o0e+04 / 25
4212+ 0.0
pl -38.53+ 0.00

TP delay

TVC(cbch) (46,6

L=
50 100

[ns]

T rnun Zb8e+u4 [ 25
4196+ 0.0
-37.2+ 0.0

TP delay

TVC(cbch) (4, 6 10

= o

[ns]

© 1 nuzpbze+ud | 25
4243+ 0.0
pl -36.89 + 0.00

TP delay

TVC(cbch) (4,6,14

[ns]

~nuiL4ze+04 [ 25
4213+ 0.0
pl -35.89+ 0.00

TP delay

[ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,6,3)

po

p1

AT 1 nuiL4nze+ud [ 25
4215+ 0.0
-37.88+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

pe=e. pO
pl

- nun Z1ze+04 / 25
4206+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (4,6,1

X~ g,

/55e+u4 125
4246+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(C, bch) (4,6,15

T nui sbze+ud [ 25
4231+ 0.0
-35.99+ 0.00

TP delay [ns]
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1000
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2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,7,0

AT 1nui44e+04 /25
.. po 4200+ 0.0
pl -36.38+ 0.00

TP delay [ns]

TVC(cbch) (47,4

- i 353e+04 / 25
e, pO 4213+ 0.0
p1 -37.1% 0.0

I C =26.96 [ps/c ]

50 100
TP delay [ns]

TVC(eb,oh)=(4, 7,8

Srn ” ger04/25
o po 4225+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (4,7,12

T rnuiLgs1e+u4 / 25
= po 4250+ 0.0
pl -35.77 + 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1)

= po

AT rnuiLbzie+ud [ 25

pl -36.35+ 0.00

4214+ 0.0

TP delay [ns]

TVC(c,b ch) (4 7,5

1 nui 353e+04 | 25

e pO 4215 0.0
pL -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (4 7,9

T nup.1/3e+u4 /25
- DO 4257+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (4,7,13

Tinuibize+ud [ 25
- pO 4255 0.0
pl -36.33+ 0.00

TP delay [ns]
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1000

4000

2000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (4,7,2)

AT 1nuosre+ud /25
o= po 4206+ 0.0
L pl -36.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,7,6

1000

=1 nurLbpYe+u4 [ 25
- pO 4220+ 0.0
[ pl -36.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (47,10

T rnuizag/e+u4 [ 25
- po 4254+ 0.0
- pl -36.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,7,14

~1nuiLa4se+04 / 25
pD 4254+ 0.0
p1 355+ 0.0

TP delay [ns]
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3)

A 1L Sagerud | 25
po 4225+ 0.0
pL -36.47 £ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

- /i 4bae+0d [ 25
pO 4231+ 0.0
pL -35.31% 0.00

TVC(c,b ch) (4, 7

TP delay [ns]

1)
T nan2,uye+u4 | 25
4257+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,7,15

-1 nuiLquoe+u4 / 25
pO 4255+ 0.0
p1 -35.33+ 0.00

TP delay [ns]
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1000

TVC(cbch) (4,8,0)

- po

TonanLuve+ud /25
4187+ 0.0
-36.73+ 0.00

8

TP delay [ns]

TVC(cbch) (4,8,4

181e+u4 /25
4190+ 0.0
-36.39+ 0.00

— po,..u.l
pl
e ]
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (4 8,8
= pD

< rnuiL2y/e+04 [ 25
4196+ 0.0
-35.01+ 0.00

p1

TP delay [ns]

TVC(cbch) (4,812

= po
p1

T is1e+u4 / 25
4204+ 0.0
-35.28 + 0.00

TP delay [ns]
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1000

TVC(cbch) (4,8,1)

= o

AT rnuiLlize+ud [ 25
4190+ 0.0
-36.78 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (4 8,5

Snun1z1e+04 /25
4196+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,9

= pO

T nuiganae+ud /25
4212+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(cbch) (4,813

= pO

T nuiL1yse+ud / 25
4207+ 0.0
-35.86 + 0.00

TP delay [ns]
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1000

4000
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2000

4000

3000
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1000

1000

1000

TVC(cbch) (4,8,2)

[ pO

TonanLire+ud [ 25
4203+ 0.0
-36.16 + 0.00

p1

TP delay [ns]

TVC(cbch) (4,86

T 34/e+04 [ 25
4212+ 0.0
-36.58 + 0.00

= pO

[ pL

- C = 27.34 [ps/ch .
n s

TP delay [ns]

TVC(cbch) (4, 8 10

pO
p1

1 nuiLgoge+u4 | 25
4240+ 0.0
-35.73+ 0.00

1
100

TP delay [ns]

TVC(cbch) (4,814

i

- PO
pl

vy4l/25
4209+ 0.0
-36.24 + 0.00

TP delay [ns]
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TVC(cbch) (4,8,3)

= po

AT nun Lase+ud [ 25
4204+ 0.0
-36.75+ 0.00

pl

TP delay [ns]

TVC(cbch) (4,87

= po
pl

-1 nui 344e+04 / 25
4206+ 0.0
-36.22+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (4, 8

= pO

T z4e+u4/25
4230+ 0.0
-34.91+ 0.00

pl

TP delay [ns]

TVC(C, bch) (4,815

= pO

T inai10se+u4 / 25
4206+ 0.0
-34.94+ 0.00

TP delay [ns]
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TVC(cbch) (4,9,0)

X~ 1L usze+u4 [ 25

p1 -36.64+ 0.00

4230+ 0.0

TP delay [ns]

TVC(cbch) (49,4

-1 z3se+u4 [ 25

- pO 4215+ 0.0
p1 -36.57:+ 0.00

50 00
TP delay [ns]

TVC(cbch) (4 9,8

11z, 0z9e+04 | 25

b po 4219+ 0.0
p1 35+ 0.0

TP delay [ns]

TVC(ebch)=(4,9, 12

- i s7se+u4 [ 25
= po 4245+ 0.0
pl -35.97 + 0.00

TP delay [ns]
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TVC(cbch) (4,9,1)

S T ysad /25
e, pO 4228+ 0.0
pL -36.74 £ 0.00

TP delay [ns]

TVC(CbCh) (4 9 5

= 1109/25
== po 4224+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(c,b ch) (4 9,9

/b 5ULe+U4 | 25
4239+ 0.0
-34.51+ 0.00

[ C =28.97 [ps/ch] 7]

1
B 00

TP delay [ns]

TVC(ebeh)=(4, 9,13

Tinaizzie+ud [ 25
- pO 4246+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000
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1000
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1000

4000

:

10005— C =29.74 [ps/ch] u '
f : s

4000

3000

2000

1000

TVC(cbch) (4,9,2)

- P

A~ 1 nui Usae+u4 /25
4233+ 0.0

TP delay [ns]

TVC(Cbch) (4 9,6

= o

p1 -36.94 + 0.00

=1 nur 3o5e+04 / 25

) —‘
-37.41+ 0.00

4244+ 0.0

TP delay [ns]

TVC(cbch) (4, 9 10

1 58 e+04 [ 25

- pO 4240 0.0
[ p1 -33.63+ 0.00

TP delay [ns]

TVC(ebch)=(4,9, 14

- 1 i usze+U4 [ 25
F pD 4230+ 0.0
[ p1 -34.21+ 0.00

F C = 29.23 [ps/ch]

P B |
=) 100

TP delay [ns]
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TVC(cbch) (4,9,3

A~ nuiL, 13ye+ud 25
- po 4253+ 0.0
pL -37.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (4 9,7

-1 nui 4z20e+04 / 25
- pO 4251+ 0.0
p1 -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (4, 9

-, //ye+u4/25
o, 4247+ 0.0
-34.53+ 0.00

[ C =28.96 [ps/ch] ]

1
=0 00

TP delay [ns]

TVC(ebeh)=(4,9, 15

- i 148e+U4 [ 25
e, pO 4250+ 0.0
p1 -35.54 + 0.00

TP delay [ns]
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1000
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3000
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1000

0

4000 [,

3000

2000

1000

TVC(c,b,ch)=( 4, 10,0)

P po

AT nu v/30/25
4161+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (4,104

- i 135e+04 / 25
4213+ 0.0
pl -35.29+ 0.00

pO
TP delay [ns]
TVC(c,b, ch) (4, 10 8)
©1nug.bgle+ud / 25
- pO 4220+ 0.0
pl -36.41+ 0.00

TP delay

TVC(cbch) (4,10, 12

[ns]

~ 1 nuiLu4ye+ud / 25
4249+ 0.0
pl -36.59 + 0.00

TP delay

[ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,10,1)

=, po

A7 1 nuiLubbe+ud /25
4187+ 0.0
-35.17 + 0.00

p1

TP delay [ns]

TVC(c, bch) (4,10,5

=1 nuiL Ubbe+u4 / 25
4207+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (4,10,9

== pO

pl

T nug gve+ud [ 25
4241% 0.0
-36.43 + 0.00

TP delay [ns]

TVC(C, bch) (410,13

T nai 1sse+ud [ 25
4259+ 0.0
-36.14+ 0.00

TP delay [ns]
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1000

4000
3000
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1000

1000

TVC(cbch) (4,10,2)

= po

AT rnuiLanie+ud /25
4180+ 0.0
pl -34.96 + 0.00

TP delay

TVC(cbch) (4,10,6

[ns]

“ Ly /ge+u4 [ 25
4228+ 0.0
pl -36.59 + 0.00

- pO
- C = 27.33 [ps/ch .
5(‘) 10‘0 =
TP delay [ns]

TVC(cbch) (4, 10 10

0

- DO

Tz zise+u4 | 25
4267+ 0.0
pl -37.36+ 0.00

TP delay

TVC(cbch) (410,14

pD

[ns]

T i 1gse+ud [ 25
4252+ 0.0
pl -36.25 + 0.00

TP delay

[ns]

TVC(cbch) (4,10,3)

4000 £ 00

AT rnuiLu/rze+ud [ 25
4187+ 0.0
-35.3+ 0.0

p1

3000

2000

1000

TP delay

TVC(c, bch) (4,10,7

2000 pO

[ns]

-1 nui 149e+04 / 25
4234+ 0.0
pl -35.75+ 0.00

3000

2000

wol C = 27.97 [ps/ch

TP delay

TVC(eh.ch)=(4, 10, 11

4000 o

[ns]

TinuiLpr1e+u4 /25
4259+ 0.0
-35.9 + 0.0

3000

2000

1000

TP delay

TVC(cbch) (4,10,15

JRTTReT

4000 o

[ns]

- oe+ud [ 25
4232+ 0.0
pl -35.77 + 0.00

3000

2000

1000

TP delay

[ns]
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1000

TVC(CbCh) (4,11,0)

[ C =29.69 [ps/ch]

AT 1nuiss1e+04 /25
.. po 4166+ 0.0
-33.68+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

-1 nuiLayze+u4 | 25
- pO 4228+ 0.0
pl -35.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4118

T nuig,1n3e+U4 / 25
= po 4226+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

K71 nui osze+04 /25
= PO 4239+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(Cbch) (4, 11 1)

4000 [ pO

p1

T Ls1e+ud /25
4179+ 0.0
-33.55+ 0.00

3000

2000 -

wol C = 29.81 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (4,11,5

4000 fm, pO

[ns]

=11 38be+u4 / 25
4219+ 0.0
pl -36.05+ 0.00

3000

2000

1000

TP delay

TVC(eb.eh)=(4, 11, 9

4000

[ns]

T nai Zoe+ud | 25
4245+ 0.0
-35.5 % 0.0

3000

2000

1000

1
50 100

TP delay

TVC(c, bch) (411,13

4000 e ,,0

[ns]

T nuivbze+ud [ 25
4237+ 0.0
pl -36.78 + 0.00
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1000

TP delay

[ns]
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1000

TVC(CbCh) (4, 11 2)

- C =30.00 [ps/ch] ™. 1

T ssse+ud [ 25
) DO 4187+ 0.0
o pl -33.33+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,6

- Ui b3be+ud / 25
pe, pO 4238+ 0.0
[ pl -36.95+ 0.00

TP delay [ns]

TVC(e.b,ch)=(4, 11, 10

Tz oe+u4 /25
- po 4251+ 0.0
L pl -35.11+ 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 11w 349e+04 [ 25
e, po 4228+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]
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1000
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1000

TVC(cbch) (4,11,3)

AT 1 nuiL,sbobe+u4 / 25
== po 4185+ 0.0
pl -33.23+ 0.00
[ C=30.10 [ps/ch] ™. ]
L L =
50 100
TP delay [ns]

TVC(cbch) (4,11,7

w1,/

- pO

- 1e+04/25
4251+ 0.0
pl -36.56 + 0.00

TP delay

TVC(cbch) (4, 11 11

e pO

[ns]

Tonan1o/e+u4 /25
4253+ 0.0
pl -35.86 + 0.00

TP delay

TVC(c, bch) (411,15

[ns]

T nui s45e+04 / 25
4226+ 0.0
p1 -35.39+ 0.00

TP delay

[ns]
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1000

TVC(c,b,ch)=(4, 12,0)

T AL 835/ 25
[, PO 4183 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(cbch) (4,124

- i3] (e+04 ] 25
P, pO 4205+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (4, 12 8

Crnun 1 g1e+ud /25
P pD 4200+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (412,12

T nuiLoyse+ud / 25
PO 4216+ 0.0
pl -36.13 + 0.00

TP delay [ns]
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TVC(cbch) (4,12,1)

AT 1 nuiL1uve+u4 [ 25
[, po 4219+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c, bch) (4,125

-1 nui4b1e+04 / 25
e, pO 4208+ 0.0
pL -36.44 + 0.00

TP delay [ns]

TVCebeh)=(4, 12,9

<1 nuw vbbe+ud / 25
= DO 4214+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(C, bch) (412,13

— S rnan11Ye+0d /25
= PO 4197 0.0
pl -35.62 + 0.00

TP delay [ns]
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4000 =,
3000
2000

1000

TVC(cbch) (4,12,2)

- C = 29.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,12,6

-1 391e+04 / 25
- pO 4210+ 0.0
I pl -36.31+ 0.00

X~ 1L ugve+U4 [ 25
== po 4193 0.0
3 pl -34.06+ 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

1 nuizgyge+u4 | 25
DO 4241+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (412,14

~nuig4z4e+04 | 25
PD 4200+ 0.0
pl -35.59 + 0.00

TP delay [ns]
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TVC(cbch) (4,12,3)

A~ a1 Lse+ud ] 25
- PO 4196+ 0.0
pl 3562+ 0.00

TP delay [ns]

TVC(c, bch) (4,12,7

=1 nui boze+u4 / 25
4221+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(c, bch) (4, 12 1

T nai r30e+04 / 25
- pO 4237+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (4,12,15

= T nai ssze+ud [ 25
PO 4205+ 0.0
-35.42+ 0.00

TP delay [ns]
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~ 1 nuiz.4o9e+04 / 25
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pl -37.23+ 0.00

TP delay [ns]
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4000

3000

2000

1000
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[Fouse PO 4230+ 0.0
pl -36.39+ 0.00
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TP delay [ns]

TVC(cbch) (4, 13 8
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[ C =29.24 [ps/ch]
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TP delay [ns]

TVC(cbch) (4,13,12
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T 1yre+u4 / 25
4236+ 0.0
-35.13+ 0.00
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TVC(chh) (4,13,1)

A1 nuza33e+04 [ 25
e po 4284+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c, bch) (4,135

- nun zg/e+u4 / 25
[, pO 4218+ 0.0
pL -36.08 + 0.00

TP delay [ns]

TVCebeh)=(4, 13,9

~ 1 nuigz3ae+u4 / 25
- po 4305+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(C, bch) (413,13

== po

T inai1uve+ud / 25
4239+ 0.0
-35.31+ 0.00

PR U S S |
50 100

TP delay

[ns]

4000

2000

1000

4000
3000
2000

1000

4000

:

1000;- C =28.36 [ps/ch] - '
! - s

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

A7 1 nuig ooye+ud / 25
e, po 4300+ 0.0
: pl -37.58+ 0.00

3000

TP delay [ns]

TVC(cbch) (4.13,6

-1 nur bb3e+ud [ 25
po 4248+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

T rnuiLzgle+u4 | 25
- po 4317+ 0.0
: pl -35.26 + 0.00

TP delay [ns]

TVC(cbch) (413,14

- p"

© i zsge+u4 | 25
4244+ 0.0
pl -35.47 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

AT rnuiza1e+u4 /25
po 4310+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(c, bch) (4,13,7

-1 nui 49ze+04 [ 25
- pO 4260+ 0.0
pL -37.32:+ 0.00

50 100
TP delay [ns]

TVC(ebeh)=(4, 13, 11)

- pO

wur 4201125
4320+ 0.0
-35.13+ 0.00

[ C =28.47 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (4,13,15

= po

T naiazze+u4 [ 25
4252+ 0.0
-35.54+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

1 nuzosve+u4 | 25
o, pO 4240+ 0.0
p1 -36.52+ 0.00

TP delay [ns]

TVC(Cbch) (4, 14 4

- rnuiz9ze+u4 | 25
pO 4245+ 0.0
p1 -36.23+ 0.00

TP delay [ns]

TVC(cbch) (4,14,8

- 1 nug, 3ove+ud / 25
4206+ 0.0
-35.4 + 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (4, 14 12

- i 519e+04 / 25
- po 4286+ 0.0
pl -37.47+ 0.00

P R |
50 100

TP delay [ns]

TVC(chh) (4,14,1)

4000 fur po

AT 1 nublye+ud [ 25
4234+ 0.0
p1 -35.64 + 0.00

3000

2000

1000

L 1
50 100

TP delay

TVC(c,b Ch) (4, 14 5

4000 e, DO

pl

[ns]

T nuiz/3e+04 [ 25
4257+ 0.0
-37.01+ 0.00

3000 -

2000

w0l C = 27,02 [ps/ch

TP delay

TVC(c, bch) (4,14,9

- 1 s Bobe+U4 | 25
4237+ 0.0
pl -34.87 + 0.00

4000 [

pO

[ns]

3000

2000

1000

TP delay

TVC(c,b ch) (4, 14 13

4000 fon, pO
p1

[ns]

T naiazae+ud [ 25
4272+ 0.0
-36.3+ 0.0

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (4,14,2)

TVC(Cbch) (4,14,3)

- C = 28.06 [ps/ch

1
50 100

TP delay [ns]

TVC(Cbch) (4, 14 6

K™ 1nuig z41e+04 | 25
P, po 4243+ 0.0
[ p1 -35.64 + 0.00

A~ 1 nuzYore+ud [ 25
- po 4236+ 0.0
pL -34.89+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 14 7

© 1 nuiL414e+04 / 25
- pO 4250+ 0.0
- pl -35.92 + 0.00

TP delay [ns]

TVC(cbch) (414,10

©1nuiz.a45e+04 | 25
- po 4239+ 0.0
[ p1 -34.77 + 0.00

=1 nui b34e+ud | 25
fe=s, po 4279+ 0.0
p1 -36.09 + 0.00

TP delay [ns]

TVC(ehch)=(4, 14, 11

TP delay [ns]

TVC(CbCh) (4, 14 14

1000

- i psre+ud [ 25
- pD 4261+ 0.0
N p1 -36.18+ 0.00

T nuiz 1) /e+ud | 25
= pO 4237+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(cbch) (4, 14 15

TP delay [ns]

- i pobe+ud [ 25
e, pO 4264+ 0.0
p1 -35.95 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

1
0 50 100

TVC(CbCh) (4, 15 0)

T s44e+04 [ 25

-37.11+ 0.00

4200+ 0.0

TP delay [ns]

TVC(cbch) (4,154

T rnuiLzy/e+ud [ 25

k. pO 4196+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

1 nuiz 20ze+04 | 25

- T

4222+ 0.0
36.3+ 0.0

TP delay [ns]

TVC(cbch) (4,15,12

T rnuizpole+ud / 25
4225+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,15,1)

A~ 1 nuiL4o9e+U4 [ 25

Foase po 4185+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c, bch) (4,155

- nui191e+u4 / 25
pO 4206+ 0.0
pL -35.73+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

ol /8e+u4 [ 25
4247+ 0.0
-37.31+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (415,13

1 nuiz.oyze+ud | 25
— pO 4225+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,15,2)

AT inuir31e+04 /25

TP delay [ns]

TVC(cbch) (4,156

Fouee po 4211+ 0.0
L pl -36.66+ 0.00

3000

11urLpble+u4 [ 25

- pO 4218+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

T z13e+04 /25
- po 4245+ 0.0
L pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 14

T rnuizurze+u4 [ 25
- pD 4234+ 0.0
L p1 -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,15,3)

AT rnuiL4rve+ud [ 25

po 4214+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c, bch) (4,157

- nu 348e+04 / 25
4214+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

~ i nuiLpu/e+ud / 25
= po 4255+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (4,15,15

T inuizzg/e+ud [ 25
- po 4220+ 0.0
p1 -35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,0)

A7 1 nui syve+ud / 25
4181+ 0.0
-35.11+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (50,4

=1 nuiL4u5e+04 / 25
pO 4199+ 0.0
pl -35.92:+ 0.00

TP delay [ns]

TVC(cbch) (5 0,8

©1uzpuse+ud | 25
pD 4201+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(cbch) (5,0,12

[ C =29.30 [ps/ch]

T L4 rse+u4 [ 25
pO 4207+ 0.0
pl -34.12+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,1

x- 1L d1oe+ud | 25
P e po 4177+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (5 0,5

=1 i 3ube+u4 / 25
- pO 4204+ 0.0
pL -35.54 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 0,9

T naip31e+u4 / 25
= po 4226+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (50,13

T inai szze+ud [ 25
peee. 4200+ 0.0
-33.06 + 0.00

[ C =30.25 [ps/ch] ™. ]
s *
TP delay [ns]

TVC(cbch) (5,0,2)

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (50,6

4000

3000

2000

1000

A7 1 nui 3o0e+U4 / 25
po 4186+ 0.0
pl -35.39+ 0.00

T nun145e+04 /25
- pO 4204+ 0.0
- pl -35.73 + 0.00

TP delay [ns]

TVC(cbch) (5, 0 10

4000

3000

2000

1000

T nuig.41ze+04 /25
po 4227+ 0.0
pl -33.88+ 0.00

- C = 29.52 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (5,0,14

4000

3000

2000

1000

T rnuiLgu/e+ud [ 25
4214+ 0.0
-33.47 + 0.00

- C = 29.88 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,3

AT rnuiLsure+ud [ 25
poee, po 4200+ 0.0
pl -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (5 0,7

-1 nui bb3e+u4 / 25
- pO 4229+ 0.0
pL -36.08+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, O

T, UbHe+U4/25
=, 4238+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (50,15

T 1nuiasae+ud [ 25
= pO 4198+ 0.0
p1 -32.88+ 0.00

[ C=30.41[ps/ch] ™ 7]
gl =
TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,0

AT 1nuiasie+ud /25
- po 4187+ 0.0
pl -37.02 0.00

TP delay [ns]

TVC(cbch) (51,4

- i bole+ud / 25
s, pO 4183+ 0.0
pl -36.05:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 1,8

1nuiz.4u4e+04 / 25
= po 4209+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (51,12

T i, rgve+u4 | 25
= po 4198+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.1,1)

~/un 1boe+ud / 25
J— pO 4168+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,5

=1 nui byve+u4 / 25
pO 4191% 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,9

T nup. y1se+ud / 25
= po 4210+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (51,13

Tinun g poe+ud [ 25
= pO 4196+ 0.0
pl -35.53+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5.1,2)

K™ 1 nuiosse+ud /25
po 4186+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (5.1,6

- i bz5e+04 / 25
pO 4194+ 0.0
pl -35.79 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (5, 1 10

1 nuig.400e+04 / 25
po 4247+ 0.0
pl -35.24 + 0.00

TP delay [ns]

TVC(cbch) (51,14

T Lo e+u4 [ 25
pD 4209+ 0.0
pl -36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,3

AT rnuiLy1oe+ud [ 25
F po 4205+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (5 1,7

-1 nui Byle+u4d / 25
- pO 4202+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (5, l

T zme+u4/25
= 4239+ 0.0
-33.88+ 0.00

[ C=29.51 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (51,15

Tonan L e+ud [ 25
4209+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,0)

X~ 1w bzse+U4 [ 25
po 4211+ 0.0
p1 -35.57 + 0.00

[ C=28.11 [ps/ch ]
51') 100 =
TP delay [ns]
TVC(c,b ch) (5, 2 4

= i 9zze+04 [ 25
po 4202+ 0.0
pl -34.44 + 0.00

[ C=29.03 [ps/ch] N\, ]
-+ o
TP delay [ns]
TVC(c,b ch) (5 2,8

- s fuve+ud 1 25
po 4236+ 0.0
363+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (5,2, 12

T L, rooe+u4 / 25
pO 4227+ 0.0
pl -35.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (5.2,1)

T L1e+ud /25
k.. pO 4209+ 0.0
p1 -35.01# 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 2,5

S rnun1r3e+04 /25
. po 4212+ 0.0
-33.4 £ 0.0

[C=29.94 [ps/ch] % ]

5}, 150
TP delay [ns]

TVC(eb,oh)=(5, 2, 9

<1 nuiL Ubse+us / 25
- pO 4260+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 2 13

T nuiLpose+ud / 25
4228+ 0.0
-34.37+ 0.00

[ C =29.09 [ps/ch] ]

PR R SR |
50 100

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,2,2)

1000

X~ 1L 71/e+U4 [ 25
F. po 4239+ 0.0
[ p1 -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.2,6

FC = 29.25 [ps/ch™. 1

50 10'0
TP delay [ns]

TVC(chh) (5, 2 10

- iz 5 re+Ud | 25
- pO 4269+ 0.0
[ pl -35.83+ 0.00

© i bl4e+u4 / 25
pO 4219+ 0.0
pl -34.19 + 0.00

TP delay [ns]

TVC(cbch) (5.2 14

-1 nui pYle+ud [ 25
- pD 4211+ 0.0
[ p1 -34.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,3)

R~ 1 Ui Syae+ud | 25
po 4227+ 0.0
pL -34.47 £ 0.00

[ C =29.01 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (5 2,7

= 1 nui gzae+04 | 25
[=s, po 4230+ 0.0
pl -34.83+ 0.00

TP delay [ns]

TVC(e.beh)=(5, 2,

T y/ze+u4/25
- pO 4268+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 2 15

- i, fobe+ud [ 25
e, pO 4224+ 0.0
p1 -34.86 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

10F € =29.05 [ps/ch]™, 7
0 5;) 10'0 -

4000

3000

2000

1000

TVC(cbch) (5,3,0)

T 4/e+u4 /25
P pO 4181+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (53,4

-1z, usge+ud / 25
E pO 4200+ 0.0
pl -35.98:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 3,8

T il bele+u4 / 25
= po 4210+ 0.0
-34.43+ 0.00

TP delay [ns]

TVC(cbch) (5,312

T so8e+u4 /25
= po 4249+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (53,1

X~ 1L dole+ud | 25
1 s po 4186 + 0.0
pL -35.02:+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 3,5

=1 i Bove+u4 / 25
E pO 4211 0.0
pL -36.93+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

-1 nug pgle+ud / 25
= po 4210+ 0.0
pl -33.42 + 0.00

[C=29.92[ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(cbch) (53,13

T inuisszze+ud [ 25
= pO 4235 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (5,3,2)

AT 1nun41se+04 /25
Funse. po 4205+ 0.0
o pl -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (53,6

- nunLg1Ye+u4 / 25
- pO 4223+ 0.0
[ pl -35.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 3 10

©1nuiLgole+u4 / 25
- po 4243+ 0.0
- pl -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (5,3 14

T, g7 e+u4 [ 25
F-. pD 4232+ 0.0
L pl -35.84 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3

AT 1 nuiLb43e+U4 [ 25
poee, po 4207+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

- rnuLylie+ud / 25
- pO 4246+ 0.0
pL -36.77:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 3

T, /ue+u4/25
- po 4255+ 0.0
p1 -34.74.+ 0.00

[ C=28.78 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (53,15

-1 nuis.yooe+ud / 25
= pO 4242+ 0.0
p1 -35.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0)

.. po

X~ 1w 1z4e+04 [ 25
4182+ 0.0
-34.75+ 0.00

pl

TP delay [ns]

TVC(cbch) (54,4

=1L uBbe+u4 / 25
4195+ 0.0
-34.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5 4,8

B pD

p1

- a8 5e+u4 25
4212+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(cbch) (5,4, 12

e, po
p1

- 1 s8ze+04 [ 25
4206+ 0.0
-35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,1)

AT 1w loze+ud [ 25

[ po

pl

4174+ 0.0
-33.89+ 0.00

[ C =29.51 [ps/ch]

L 1
50 100

TP delay [ns]

TVC(c,b ch) (5 4,5

~ 1 naiL144e+04 / 25
4202+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (5,4,9

X

po
pl

5.be+u4 /25
4249+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 4 13

T nuiL 1s0e+ud / 25
4214+ 0.0
-35.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (5,4,2)

e, po

X~ 1w z41e+04 /25
4185+ 0.0
-35.34+ 0.00

pl

TP delay [ns]

TVC(cbch) (54,6

- 1L 0Yoe+u4 / 25
4223+ 0.0
-36.06 + 0.00

- P°
: =
[ C=27.73 [ps/ch
5(') 10'0

TP delay [ns]

TVC(eb,oh)=(5, 4, 10

pO
pl

-1 nu 208e+04 [ 25
4248+ 0.0
-35.46 + 0.00

1
100

TP delay [ns]

TVC(cbch) (5,414

F= PD

pl

- 1 180e+04 / 25
4207+ 0.0
-34.93+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3)

e, po

A 1nuiLzz1e+u4 [ 25
4198+ 0.0
-34.7+ 0.0

p1

TP delay [ns]

TVC(c,b ch) (5 4,7

E. pO
pl

- nun 1z28e+04 / 25
4218+ 0.0
-35.12+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 4

= pO

T azbe+u4/25
4267+ 0.0
-36.67 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (5, 4 15

- zzze+04 [ 25
4207+ 0.0
-35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

X~ 1w lore+U4 /25
e Y 4186+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (55,4

T z3/e+u4 [ 25
= pO 4186+ 0.0
pl -36.31+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 5,8

©1nuz549e+04 | 25
- PD 4225+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (5,5, 12

~ 1 nuiL zooe+ud / 25
- PO 4227+ 0.0
pl -35.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51

AT nuiL3sse+u4 [ 25
e, LY 4207+ 0.0
pl -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

“onar 1.4e+04 /25
e DU 4193+ 0.0
pl -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (5 59

T nun. 133e+u4 / 25
- DO 4244+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (5,5,13

T 431e+u4 /25
- PO 4224+ 0.0
pl -36.59 + 0.00

TP delay [ns]
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2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (5,52)

X~ 1w ziie+ud [ 25
- po 4189 0.0
r pl -36.3+ 0.0

3000

TP delay [ns]

TVC(cbch) (5,56

- i 3p3e+04 / 25
- pO 4188+ 0.0
I pl -36.67+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

T, rzze+04 | 25
- DO 4237+ 0.0
r pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T i gooe+u4 / 25
- PD 4234 0.0
I pl -36.75+ 0.00

3000

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT nuiL315e+U4 / 25
- po 4214+ 0.0
p1 -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nui bale+u4d / 25
= PO 4220+ 0.0
pL -37.35+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 5

SRAL R bU/e+U4/25
- pO 4249+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(C, bch) (5.5,15

T 33be+u4 [ 25
- PO 4227+ 0.0
pl -35.95+ 0.00

TP delay [ns]
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4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,0

AT 1nuis10e+04 /25
- po 4183+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(cbch) (56,4

- i zzoe+u4 [ 25
pO 4195+ 0.0
p1 -35.48:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 6,8

T L fo1e+u4 / 25
= po 4216+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (5,6, 12

T s34e+04 / 25
= po 4236+ 0.0
pl -36.53+ 0.00

TP delay [ns]
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1000
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1000
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3000
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1000

4000

3000

2000

1000

TVC(cbch) (5,6, 1

AT 1 nunLzuse+ud [ 25
Foaee po 4176+ 0.0
pl -34.61+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 6,5

-1 nu 3z29e+u4 [ 25
4192+ 0.0
-35.8 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 6,9

-1 nu.193e+ud / 25
==, 4235+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (5,6,13

T inai 343e+u4 / 25
= pO 4230+ 0.0
pl -36.48 + 0.00

TP delay [ns]
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1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,6,2)

- C = 28.86 [ps/ch]

AT inunzize+V4 /25
Freee, po 4196+ 0.0
o pl -34.65+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (56,6

T nun1.49e+04 /25
- pO 4211+ 0.0
[ p1 -36.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 6 10

1000

1 nuiLysge+u4 | 25
- po 4251+ 0.0
- pl -35.79+ 0.00

3000

TP delay [ns]

TVC(cbch) (56,14

T 1L pzse+u4 | 25
- pD 4233+ 0.0
[ p1 -36.87 + 0.00

3000

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,3

AT rnuiLzzie+ud [ 25
poee, po 4203+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(c,b ch) (5 6,7

-1 nui Zoye+u4 / 25
- pO 4201+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 6

T ssze+u4/25
== 4239+ 0.0
-34.63 + 0.00

[ C =28.88 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (5,6, 15

T nui ooae+ud [ 25
= pO 4239+ 0.0
p1 -36.89+ 0.00

TP delay [ns]



TVC(cbch)(570 TVC(cbch)(571 TVC(cbch)(572) TVC(cbch)(573

X~ 1w zioe+U4 [ 25 AT 1 nuiL1n3e+u4 [ 25 X~ 1w zore+U4 /25 AT 1 nuiLzoze+u4 [ 25
4000, po 4217+ 0.0 4000 = po 4231+ 0.0 4000 fm po 4236+ 0.0 4000 fmm, po 4253+ 0.0
pl -35.27 + 0.00 pL -35.85+ 0.00 L pl -35.26 + 0.00 pL -35.78  0.00
3000 E 3000 E 3000 - 3000 1
-
2000 4 2000 1 2000 - 2000 7
1000 - 1000 T 1000 - 1000 7]
L 1
-
. -
50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

“ g l?é‘.‘)eﬂ]d 125 T 2ﬂde+u4/25 S, l)‘:lle+U4 125 Trnar J)UZEH)A/Z5
4000 pO 42471 00 4000 e, pO 4250£ 0.0 4000 fem, pO 4248+ 0.0 4000 fr, pO 4255£ 0.0
Pl -35.36%0.00 Pl -3565% 000 [ Pl -35.88%0.00 Pl -3559% 000
3000 ] 3000 - 3000 5 3000 | 4
2000 ] 2000 5 2000 E 2000 g
1000 ] 1000 1 wool- C = 27.87 [ps/ch 7 1000 C = 28.10 [ps/ch ]
1 L - 1 -
50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

T nu1rye+u4 / 25 T g.obe+u4 / 25 T Lize+V4 [ 25 -1 4b4e+u4/25
4000 B po 4225+ 0.0 4000 pO 4251+ 0.0 #000 e, po 4272+ 0.0 4000 fom, p0 4264+ 0.0
Pl -36.43% 0.00 Pl -36.74% 0.00 I PL_ 3653+ 0.00 Pl -35.65% 0.00

3000

. 3000 1 3000 -1 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000 - 1000

1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5, 7 12) TVC(c,b Ch) (5, 7 13) TVC(c,b Ch) (5, 7 14) TVC(c,b Ch) (5, 7 15)
Ty zze+ud /25 Tinui zie+ud [ 25 Ty zse+ud [ 25 Tinaizy/e+ud [ 25
4000 PO 4271% 0.0 4000 pO 42812 0.0 4000 fomm pD 4274+ 0.0 4000 4277+ 00
Pl -35.86+ 0.00 Pl -36.75: 0.00 [ PL_ -36.17% 0.00 -36.41% 0.00

- 3000

3000 _ 3000 -1 3000 .

2000 - 2000 1 2000 E 2000

1000 - 1000

T 1000 - 1000

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (5,8,0) TVC(c,b Ch) (5,8,1) TVC(c,b Ch) (5,8,2) TVC(c,b Ch) (5,8,3)
K- 1 Suzer0a ] 25 X 1AL e+Ud ] 25 K- 1 Sose 04 1 25 % i 01ve+ud | 25
4000, po 4202+ 0.0 4000, po 2209+ 0.0 400, po 4214+ 0.0 4000 [ po 4213+ 0.0
Pl -36.48+ 0.00 pl  -36.31% 0.00 [ Pl -35.39% 0.00 Pl -35.64+ 0.00

3000

-1 3000 - 3000

-1 3000 -

2000 1 2000 - 2000

N 2000 =

1000 1 1000 1000

wol ¢ = 28.26 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5 8,4) TVC(c,b Ch) (5, 8 ) TVC(c,b Ch) (5 8,6) TVC(c,b Ch) (5 8,7)
=i buze+u4 / 25 -1 qube+ud [ 25 T Ui b43e+04 / 25 -1 pb3e+ud [ 25
4000 pO 4229+ 0.0 4000 e, pO 4220+ 0.0 4000 = pO 4231+ 0.0 4000 [ pO 4245+ 0.0
Pl 3578+ 0.00 Pl 3532+ 0.00 I PL_ -34.88+ 0.00 Pl -35.45% 0.00

3000

- 3000 - 3000 - -1

. 3000

2000 T 2000 - 2000 - 2000 -

1000 - 1000 - 1000

. wool C = 28.21 [ps/ch ]

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(5,8,8) TVC(eb.c=(5,8,9) TVC(eh.ch)=(5, 8, 10) TVC(ebeh)=(5,8,11)
©1nuiLa4ze+04 [ 25 -1 ub, Yose+u4 / 25 T 1nuzul4e+u4 [ 25 ~ i bh3e+u4 [ 25
4000 e, pO 4228+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4268+ 0.0 4000 [ p0 4259+ 0.0
Pl 3587000 -359.% 0.0 [ -36.1% 0.0 -34.9 £ 0.0

3000

- 3000 -1 3000 -1 3000

2000 . 2000 -1 2000

2000

1000

- 1000 - 1000

1000 1
1 1 - L 1 1 R 1 1 "
50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5,812 TVC(cbch) (5,813 TVC(cbch) (5,814 TVC(C, bch) (5.8,15

T z41e+04 / 25 T 4/1e+04 /25 T z43e+04 [ 25 T 31oe+u4 / 25
41000 o, pO 4225+ 0.0 4000 o, pO 4226+ 0.0 4000 o, PD 4230+ 0.0 4000 e, pO 2244+ 0.0
pl 3514+ 0.00 Pl -36.23+0.00 [ Pl -34.49+ 0.00 Pl -36.17+ 0.00

- 3000

- 3000

3000 3000~

2000 b 2000 2000} 2000

1000 1000 1000

w0k C = 28.99 [ps/ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b,ch)=(5,9,0) TVC(c,b,ch)=(5,9,1) TVC(c,b,ch)=(5,9, 2) TVC(c,b,ch)=(5,9, 3)
T Ao T r T X T A

u 1851/25 AL v219/25 T B8/06/25 Tona Y156 /25
aoom, po 4187+ 0.0 “0E,, PO 4185+ 0.0 4000, po 4200+ 0.0 4000 PO 4205+ 0.0
-33.03 0.00 pL -33.03 £ 0.00 L pl -32.87 + 0.00 pL -33.25+ 0.00
3000 -1 3000 |- -1 3000 -— - 3000 =1
2000 - — 2000~ - 2000 ] 2000 T
000~ C = 30.28 [pS/Ch] - B w0l C =30.27 [pS/Ch] - -1 1000_— C =30.42 [pS/Ch] - . w00 C =30.08 [pS/Ch] - 4
1 L5 1 L 5 L 1 Lo 1 1 -
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(5, 9, 4) TVC(c,b,ch)=(5, 9, 5) TVC(c,b,ch)=(5, 9, 6) TVC(c,b,ch)=(5, 9, 7)
T X7 11U 0y3e+u4 / 25 T X rnuar 9v2/0/25 T X7 1L 1y1e+04 / 25 T X~ 1 3a3e+04 [ 25
4000 po 4229+ 0.0 4000 e, pO 4225+ 0.0 4000 fem, po 4223+ 0.0 4000 fo, po 4236+ 0.0
pl -33.63+ 0.00 pL -33.13+ 0.00 L pl -34.74:+ 0.00 pL -34.16 + 0.00
3000~ - 3000 |- - 3000 ' ' 3000 T
2000 E 2000 F 4 2000 ' - 2000 ]
- X ]
1000 = E L ~ — J
w0k C =29.73 [ps/ch] . 1] wof ¢ = 30.18 [ps/ch] ™= 1 FC =28.79 [ps/ch], wof C = 29.27 [ps/ch]™,_
1 1 - 1 1 - N 1 1 -1 L 1 -
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(5, 9, 8) TVC(c,b,ch)=(5, 9, 9) TVC(c,b,ch)=(5, 9, 10 ) TVC(c,b,ch)=(5, 9, 11)
T X~ 1 nuiz.a98e+04 25 T X1, 383e+U4 [ 25 T X~ 1wz yyse+ud [ 25 T A1 nuiLBzbe+ud [ 25
4000 o, po 4209+ 0.0 4000 4233+ 0.0 4000 (e po 4243+ 0.0 4000 e po 4236+ 0.0
pl -33.07:+ 0.00 -34.51% 0.00 L pl -33.11+ 0.00 pL -33.32+ 0.00
3000 - — 3000~ N a000 ] 3000 —
2000} - 2000~ N 2000 L ] 2000 | -
w0k C = 30.24 [ps/ch] ™. “°p € =28.98 [ps/eh]™_ woF C = 30.20 [ps/ch] ™, 1 wol C = 30,01 [ps/ch] ™.,
1 1 - 1 1 - [ 1 1 -1 L 1 -
0 50 100 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(5, 9, 12) TVC(c,b,ch)=(5, 9, 13) TVC(c,b,ch)=(5, 9, 14) TVC(c,b,ch)=(5, 9, 15)
T X~ 1 a4ze+04 [ 25 T AT 1L zroe+ud [ 25 T X1 338e+04 [ 25 T A1 34/e+04 1 25
4000 f pO 4257+ 0.0 4000 fe, PO 4256 0.0 4000 PO 4266+ 0.0 4000 o, PO 426400
pl -35.17 + 0.00 pl -34.7+ 0.0 o pl -35.93+ 0.00 -34.78 + 0.00
3000 -1 3000 |- - 3000 :— —: 3000 - -1
2000 B 2000 [ E 2000 ' ' 2000 [ B
] 1or C = 28.82 [ps/ch]™,, 1 rc= ] wor C = 28.75 [ps/ch]™, 1
* g‘d — — 10'0 I- —t— 5(') —t— 1C=0 — * S gé — — 1(;0 I-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

T rre+ud /25
pO 4203+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (5.10,4

- i Bz4e+04 [ 25
pO 4236+ 0.0
pl -36.99+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (5, 10 8

1 nuizpyve+u4 | 25
PD 4236+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

T gsse+u4 / 25
pO 4246+ 0.0
pl -34.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

A” 1 nuiLbuse+ud /25
po 4206+ 0.0
p1 -36.43+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5.10,5

- 1nuz.u33e+u4 / 25
pO 4222+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

T onaizrve+ud [ 25
po 4272+ 0.0
pl -38.65+ 0.00

| =
100

TP delay [ns]

TVC(cbch) (510,13

T inuig19e+ud /25
pO 4261+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,10,2)

A7 nun ssse+u4 / 25
po 4213+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (5.10,6

1000

-1 i Boze+u4 | 25
4236+ 0.0
-37.9+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

T zpYe+ud /25
po 4277+ 0.0
pl -37.67 + 0.00

TP delay [ns]

TVC(cbch) (5.10,14

~ 1 nuiLpoye+ud / 25
pD 4259+ 0.0
pl -35.56 + 0.00

TP delay [ns]
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

AT 1L szse+u4 [ 25
po 4219+ 0.0
pl -36.07 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,10, 7

- nuz 11be+04 / 25
pO 4247+ 0.0
p1 -37.41% 0.00

100
TP delay [ns]

TVC(cbch) (5, 10 1

T inuzyL/e+ud [ 25
pO 4288+ 0.0
pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

T nuis13e+ud [ 25
pO 4259+ 0.0
p1 -35.73+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

AT nun 1zse+u4 /25
P po 4176+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (511,4

-1 i bY4e+u4 / 25
P, pO 4207+ 0.0
p1 -36.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

TnuiLb/e+U4 [ 25
- po 4212+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (511,12

T g1ze+u4 /25
= po 4229+ 0.0
pl -34.98 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,11,1)

AT rnuiiuie+ud /25
P e po 4176+ 0.0
p1 352+ 0.0

TP delay [ns]

TVC(cbch) (5 11,5

- nui rzge+u4 [ 25
- pO 4222+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(cbch) (5, 11 9

T nun.y/4e+u4 [ 25
- pO 4249+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (511,13

T ss1e+u4 /25
- po 4248+ 0.0
Pl -36.14+ 0.00

TP delay [ns]
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1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (5, 11 2)

T rnuiL143e+04 /25
e, pO 4191+ 0.0
L pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (5 11,6

1000

-1 nur byye+u4 / 25
- pO 4219+ 0.0
[ pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1wz b88e+04 [ 25
- po 4254+ 0.0
L -37.01+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1L Sobe+u4 [ 25
__ po 4248+ 0.0
L pl -36.09 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

A- 1 L 154e+U4 [ 25
po 4204+ 0.0
pL -35.94 + 0.00

TP delay [ns]

TVC(cbch) (511,7

- nui by e+u4 [ 25
- pO 4228+ 0.0
p1 -36.04 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (511,11

<1 nuiL bboe+ud / 25
- pO 4264+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 15

T nui s3ye+ud [ 25
= po 4238+ 0.0
p1 -35.92 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(CbCh) (5, 12 0)

pO

“rnuan g ve+ud /25
e pO 4201+ 0.0
pl -34.41+ 0.00
[ C=29.06 [ps/ch],_ 7
1 1 -
50 100
TP delay [ns]
TVC(c,b ch) (5, 12 4)
~ i 424e+04 / 25
F 4209+ 0.0
-34.77 + 0.00

pL

- c =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 12 8)
-1 i Bobe+ud / 25
= pD 4230+ 0.0
-34.91+ 0.00

TP delay

TVC(Cbch) (5, 12 12

- pO

[ns]

T rnuiLgi4e+04 / 25
4219+ 0.0
-34.17 + 0.00

[ C =29.26 [ps/ch]

P R |
50 100

TP delay

[ns]

TVC(chh) (5,12,1)

4000 fur po

AT 1 nuiLzose+ud [ 25
4204+ 0.0
-35.06 + 0.00

pl

3000

2000

1000

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 12 5

4000 DO

“nui4/ze+04 [ 25
4223+ 0.0
-35.19+ 0.00

3000

2000

1000

TP delay [ns]

TVC(eb.oh)=(5, 12,9

4000 [

-1 nuiyygye+ud 25
4231+ 0.0
-33.65+ 0.00

3000 -

2000 -

w0 C =29.71 [ps/ch] ™.

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 12 13

4000 [

T nuiL1zoe+ud [ 25
4215+ 0.0
-34.86 + 0.00

3000

2000

1000 |~

TP delay [ns]

TVC(CbCh) (5,12,2)

4000 po

3000
2000

1000

X~ 1L 3z /e+04 [ 25
4227+ 0.0
p1 -36.37+ 0.00

TP delay

TVC(Cbch) (5, 12 6

4000 fom PO

pl

[ns]

1 nuiLb3ve+u4 / 25
4227+ 0.0
-35.83 + 0.00

3000 |~

2000~

wol- ¢ = 27.91 [ps/ch

TP delay

TVC(cbch) (5, 12 10

4000 F pO

pl

[ns]

T, 47e+04 /25
4264+ 0.0
-34.48 + 0.00

3000~

2000~

1000:— C =29.01 [ps/ch]

1
0 50 100

TP delay

TVC(CbCh) (5, 12 14

4000 [

[ns]

- s(ze+04 [ 25
4221% 0.0
p1 -35.72+ 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (5,12,3)

A~ 1 nuiLso3e+ud [ 25
4224+ 0.0
pL -36.46+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (5, 12 7

4000 e, PU

[ns]

-1 i goge+u4 / 25
4242+ 0.0
p1 -35.38+ 0.00

3000 -

2000 -

0r C = 28.26 [ps/ch

TP delay

TVC(Cbch) (5, 12 11

4000 e, pO

pl

[ns]

-1 nui gze+u4 [ 25
4255+ 0.0
-34.33+ 0.00

3000 -

2000 -

1000 C = 29.13 [ps/ch]

1
50 00

TP delay

TVC(cbch) (5, 12 15

4000 [u.

[ns]

T nai1oe+ud /25
4224+ 0.0
-34.8+ 0.0

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,13,0)

Fonee, po

pl

AT inuiLoge+ud /25
4205+ 0.0
-35.9+ 0.0

TP delay

TVC(cbch) (5.13,4

[ns]

- i 335e+04 / 25
4215+ 0.0
-36.53+ 0.00

Freee pO
pl
- C =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 13,8 )
- i roye+ud / 25
e, po 4235+ 0.0
pl -35.59 + 0.00

TP delay

TVC(cbch) (513,12

E pO

[ns]

T 1L zode+u4 [ 25
4241+ 0.0
pl -35.99+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

e, po

pl

AT 1L sbze+ud [ 25
4214+ 0.0
-35.94+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

pO
pl

© 1 nui 339e+04 / 25
4235+ 0.0
-36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

= po

T nun.ay/e+ud [ 25
4248+ 0.0
-36.15+ 0.00

pl

TP delay [ns]

TVC(cbch) (513,13

Tinaizo/e+ud [ 25
4236+ 0.0
-35.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (5,13,2)

P PO

K™ 1 nuiLyuse+u4 / 25
4202+ 0.0
pl -35.55+ 0.00

TP delay

TVC(cbch) (5.13,6

pO
p1

[ns]

- nunL183e+04 / 25
4207+ 0.0
-35.14 + 0.00

TP delay

TVC(cbch) (5, 13 10

- b

[ns]

©1nuz.402e+04 | 25
4282+ 0.0
p1 -37.48 + 0.00

TP delay

TVC(cbch) (5.13, 14

[ns]

T gsoe+u4 [ 25
4245+ 0.0
pl -35.59 + 0.00

TP delay

[ns]

TVC(Cbch) (5,13,3)

AT 1 nuaz.zzoe+ud [ 25
4202+ 0.0
pl -34.47 + 0.00

4000 [Fu.

po

3000

2000

wol C = 29.01 [ps/ch]

L
50 100

TP delay

TVC(c, bch) (5,137

2000 pO

[ns]

- nui 334e+04 / 25
4219+ 0.0
pl -35.71+ 0.00

3000

2000~

wooF C =28.01 [ps/ch

TP delay

TVC(cbch) (5, 13 1

4000 frm po

[ns]

T nui ro3e+u4 / 25
4272+ 0.0
pl -36.42 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (513,15

4000 [ po

[ns]

T nuia49e+04 / 25
4250+ 0.0
p1 -36.45+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T rnuiLgze+u4 [ 25
pO 4208+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b,ch)=(5, 14, 4

b, ,14,4)
. x- o 9s23/25
- po 4208+ 0.0
pl -36.05:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

T L, r1pe+u4 / 25
4213+ 0.0
-35.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (514,12

© i pgoe+u4 / 25
4243+ 0.0
-35.8+ 0.0

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (5,14,1)

4000 po

pl

A 1L asse+ud [ 25
4203+ 0.0
-36.07 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (5,14,5

4000 pO

pl

-1 nui 158e+04 / 25
4199+ 0.0
-36.01+ 0.00

3000 -

2000 -

1000 C

1
50 100

TP delay [ns]

TVC(c, bch) (5, 14 9

4000

~ 1 nu.334e+04 / 25
4234+ 0.0
-35.6 + 0.0

3000

2000

1000

1
50 100

TP delay [ns]

TVC(cbch) (5.14,13

4000 [, ,,o

T nuiogve+ud [ 25
4249+ 0.0
-36.78 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,14,2)

TVC(Cbch) (5,14,3)

- C = 28.10 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

1000

A1 L aye+ud | 25
_._ po 4227+ 0.0
- pl -35.58+ 0.00

AT 1L oyoe+ud [ 25
- po 4233+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

© 1 nui 115e+04 / 25
4228+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(cbch) (5, 14 10

Tz 1/1e+04 /25
__ 4253+ 0.0
L -35.6 + 0.0

- nui1/0e+04 / 25
- pO 4214+ 0.0
pL -35.35+ 0.00

TP delay [ns]

TVC(cbch) (5 14,11

TP delay [ns]

TVC(cbch) (5,14, 14)

X~ 1 prie+ud | 25
- po 4229+ 0.0
X pl -35.44 + 0.00

T nai19e+u4 / 25
P 4259+ 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (5.14,15

TP delay [ns]

T nuiob/e+ud [ 25
= po 4239+ 0.0
p1 -35.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 15 0)

[ C =28.68 [ps/ch] ]

~ 1 nuiLpuye+u4 / 25
4246+ 0.0
-34.87 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.15,4

- 1L y04e+04 | 25
o, pO 4214+ 0.0
pl -36.44 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

T 1L b3ge+u4 / 25
= po 4225+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

TVC(cbch) (5,15, 12

Ty re+ud /25
- po 4260+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1 nuiLozye+ud [ 25
eaee po 4231+ 0.0
pl -34.27 + 0.00

[ C =29.18 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (5,155

-1 nui r8oe+u4 / 25
F po 4221+ 0.0
pL -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

<1 nup.byze+u4 25
4235+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

T nuiLosbe+ud / 25
pO 4274+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (5,15,2)

1000

A7 1 nui sbse+u4 / 25
[P, po 4256+ 0.0
- pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.15,6

1000

- rnunLyy/e+ud / 25
- pO 4228+ 0.0
[ pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

a2 byve+ud | 25
-, po 4256+ 0.0
L pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

~ 1 nuiLpyve+ud / 25
pD 4270+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT rnuiLylze+ud [ 25
po 4268+ 0.0
pl -35.41+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

- nui r9ye+u4 / 25
- pO 4234+ 0.0
p1 -36.14 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

Tonan 1 s3e+ud [ 25
- po 4265+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (515,15

T inairule+ud / 25
4256+ 0.0
-35.51+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

AT 1nunazze+04 /25
P s po 4151+ 0.0
p1 -34.07 + 0.00

TP delay [ns]

TVC(cbch) (6,0,4

- 1z, Oz4e+04 | 25
o, pO 4171+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T g psze+u4 | 25
[oane PD 4178+ 0.0
pl -35.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

T rnuizusze+ud | 25
= po 4210+ 0.0
-35.33+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1)

X~ rnu 1oe+ud /25
Foaee po 4167 + 0.0
pl -35.54+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

- 1nu 143e+04 / 25
P pO 4183+ 0.0
pL -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 nuw. 79ae+u4 [ 25
o, DO 4198+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (6,0,13

~ 1 nuiz.ybse+ud / 25
E pO 4205+ 0.0
pl -35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.62 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

A7 1 nuip4se+04 /25
Freee po 4172+ 0.0
L pl -34.94 + 0.00

- Uz bbze+u4 [ 25
4199+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (6, 0 10

1000

~ 1 nuip,1rve+u4 | 25
F po 4216+ 0.0
- pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T 1nuizyole+ud / 25
E. pD 4200+ 0.0
L pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1L bzoe+ud [ 25
s po 4187+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nur bh3e+u4 [ 25
o, pO 4205+ 0.0
pl -34.79.+ 0.00

[ C =28.75[ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

Tnug, z//e+u4/25
£ po 4222+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
)

-1 nuiz.usye+ud [ 25
4216+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

X~ 1L 49pe+U4 [ 25
po 4176+ 0.0
p1 -36.92+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- i 320e+04 [ 25
po 4178+ 0.0
pl -34.28 + 0.00

TP delay [ns]

TVC(cbch) (6 1,8

< i byoe+ud 1 25
= pD 4200+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (61,12

-1 5zze+04 [ 25
= po 4199+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

X~ 1oe+ud /25
o po 4196+ 0.0
pL -37.44 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 nu.440e+04 [ 25
4163+ 0.0
-35.3+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nuiy byge+ud 25
po 4233+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

Tinun L p4e+ud [ 25
pO 4193+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

A~ 11 bode+u4 [ 25
F.. po 4212+ 0.0
L pl -37.91+ 0.00

3000

L=
50 100

TP delay [ns]

TVC(cbch) (61,6

- rnug gzee+u4 | 25
4199+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

- 1 nuizo03e+U4 1 25
- pO 4246+ 0.0
L pl -35.57:+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

- i 574e+04 [ 25
= pD 4192+ 0.0
L p1 -35.06 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A1 nuiL5/ze+ud [ 25
po 4195+ 0.0
pL -37.44+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nu 1uYe+u4 / 25
4192+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(c,b ch) (6, l

T auue+u4/25
- pO 4256+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

=1 i pUbe+U4 / 25
pO 4200+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
A7 nuisuie+ud /25 AT 1 nuz1yoe+ud [ 25 A7 1 nun guse+ud / 25 AT 1 nuz.zsse+ud [ 25
4000 po 4201+ 0.0 400, PO 4211+ 0.0 4000 [Foee, po 4210+ 0.0 4000, PO 4214+ 0.0
pl -37.47 + 0.00 pl -36.07 + 0.00 F pl -35.43+ 0.00 pl -36.51+ 0.00
3000 -1 3000 - 3000 -_ —- 3000 -1
2000 B 2000 s 2000 ] 2000 B

1000 1000 1000

wol- C = 28.22 [ps/ch

0 % 0% £ oo ) 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (6 2,4) TVC(c,b Ch) (6, 2 ) TVC(c,b Ch) (6 2,6) TVC(c,b Ch) (6 2,7)
~ 1 nuiL bgbe+u4 / 25 -1 nur Byye+ud [ 25 ~nuiLy14e+04 / 25 C g 131e+04 / 25
4000 4215+ 0.0 4000k, pO 4221+ 0.0 4000 [ pO 4236+ 0.0 4000 pO 4250+ 0.0
359+ 0.0 Pl -36.190.00 [ PL_ 3578+ 0.00 Pl -36.26+ 0.00
3000 E 3000 - a000|- 3 3000 —
2000 - 2000 - 2000 — — 2000 ]
1000 - 1000 - 1000 — C =27.95 [ps/ch — 1000 -
1 1 - 1 1 -
50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ehich=(6,2,8) TVC(eh.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ebe)=(6, 2, 11)
T rnuz1/e+u4 /25 -1y bbze+u4 [ 25 T 1nuz.aple+u4 [ 25 ~ iz, usze+u4 [ 25
4000 fome, pO 42213 0.0 4000 fae, pO 4265+ 0.0 4000 fome, DO 4266+ 0.0 4000 fs p0 4277+ 0.0
pl 3503+ 0.00 Pl -37.08%0.00 [ PL_ -35.93% 0.00 Pl -36.85: 0.00

3000 - 3000 1 3000 - 3000 -1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(621 ) TVC(cbch)(6213) TVC(cbch)(6214) TVC(cbch)(6215)
TinuzuL/e+ud /25 T rwiz.y/oe+u4 [ 25 Tnun L soe+u4 /25 -1 yoye+u4 [ 25
4000 pO 4213+ 0.0 4000 pO 4240+ 0.0 4000 PD 4226+ 0.0 4000 4245+ 0.0
pl -34.92+ 0.00 pl -36.65+ 0.00 r pl -35.38+ 0.00 -35.81+ 0.00

3000 -1 3000 1 3000 - 3000 -1

2000 ] 2000 2000 - 2000

1000 1000

1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

A7 nun suse+ud / 25
- po 4197+ 0.0
pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (63,4

“ i 710e+04 / 25
e, pO 4231 0.0
pl -37.52:+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

T nuz31ge+u4 / 25
- po 4237+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (6,3 12

T rnuizusse+ud | 25
pO 4237+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

X" 1L dzzerud | 25
Frase po 4203+ 0.0
pL -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

- /UL 7yse+u4 [ 25
[Fom, DU 4234+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

T nu1g/e+u4 [ 25
- pO 4254+ 0.0
-35.5 % 0.0

1
50 100

TP delay [ns]

TVC(cbch) (63,13

T nuizylse+ud / 25
4225+ 0.0
-35.11 + 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,3,2)

K™ 1 nuibsve+ud /25
Freee, po 4215+ 0.0
o pl -36.79. 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

S rnun 1 bye+ud [ 25
- pO 4238+ 0.0
[ pl -36.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

1 nuizpope+ud | 25
__ DO 4283+ 0.0
L pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

T/ roe+04 [ 25
4227+ 0.0
-36.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

x- 1 L dsae+ud | 25
P, po 4218+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

-1 nui gbae+u4 [ 25
- pO 4248+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T 5a9e+u4/25
- po 4263+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(C, bch) (63,15

T nuiyyle+ud / 25
e po 4243+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0)

A1 szve+ud [ 25
4199+ 0.0
-36.03+ 0.00

TP delay [ns]

TVC(cbch) (6.4,4

S i 04e+04 /25

4188+ 0.0
-34.08 + 0.00

= pO
pl
[ C =29.34 [ps/ch] ]
- o
TP delay [ns]
TVC(cbch) (6 4,8
= pD

- a8 5e+u4 25
4190+ 0.0
-35.56 + 0.00

TP delay [ns]

TVC(cbch) (6,4,12

A1

1y4e+U4 [ 25
4223+ 0.0
-33.58 + 0.00

[ C =29.78 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1)

. po

AT nuiL31oe+u4 [ 25
4178+ 0.0
-35.51+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (6 4,5

=11 4u4e+04 / 25
4187+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

-1 nug.gule+ud / 25
4210+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (6, 4 13

TinaiLrve+ud [ 25
4222+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

- po

pl

A~ 1 3o0e+04 / 25
4192+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(cbch) (64,6

pD
pl

-1 zoge+u4 [ 25
4190+ 0.0
-35.32 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 4, 10

pO

pl

- i gZ1e+04 [ 25
4242+ 0.0
-34.84 + 0.00

TP delay [ns]

TVC(cbch) (64,14

pD

- i 135e+04 /25
4230+ 0.0
p1 -33.71+ 0.00

- C = 29.66 [ps/ch]

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

» PO

p1

x- 1 L Zave+ud | 25
4207+ 0.0
-35.73+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui 31ee+u4 / 25
4202+ 0.0
-34.9 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6, 4

AL z/ue+u4/25

4228+ 0.0
-33.86 + 0.00

[ C =29.54 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 4 15

- 193e+ud [ 25
4227+ 0.0
-34.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0)

o Lzoe+ud [ 25
e PO 4205+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (6,54

[ C =29.23 [ps/ch]

T g lse+u4 [ 25
ase, PO 4200+ 0.0
pl -34.21+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

1 nuiLyy4e+u4 / 25
- PD 4219+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

~nuiLoyze+ud [ 25
- PO 4228+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

R Srae+ud [ 25
o, LY 4216+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

[ C =29.37 [ps/ch] 7

T U 33/e+04 / 25
DU 4197+ 0.0
pL -34.04 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

-1 nu.yyve+ud | 25
DO 4216+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (6,5,13

T ayoe+u4 [ 25
pO 4251% 0.0
pl -36.13 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (6,52)

X~ 1 441e+04 /25
po 4227+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (6,56

- C = 29.26 [ps/ch]

- rnuig314e+04 / 25
- pO 4211+ 0.0
X pl -34.18+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T nuig.4l0e+04 / 25
4244+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(cbch) (6,5,14

~ i byoe+ud [ 25
- PD 4224+ 0.0
L pl -35.17 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1L zase+ud [ 25
[ pO 4213+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 57

T g ub3e+ud [ 25
- PO 4213+ 0.0
Pl 3512000

TP delay [ns]

TVC(c,b ch) (6, 5

aRALVS 195e+u4/25
- pO 4250+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T inuiplze+ud [ 25
4238+ 0.0
-36.1+ 0.0

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

A~ 1 1sve+ud /25
po 4200+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

-1 i 340e+04 / 25
o pO 4184+ 0.0
p1 -35.02:+ 0.00

- C =
% o
TP delay [ns]
TVC(c,b ch) (6, 6 8

- rnuzziie+ud | 25
po 4218+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

-1 nuiLy3ie+ud [ 25
po 4236+ 0.0
pl -35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

X 1L 2aae+Ud | 25
_ po 4210+ 0.0
pL -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

= nur 1740e+04 /25
po 4209+ 0.0
pl -36.31+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 6,9

T naiLzu/e+U5 / 25
pO 4249+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 6 13

T inuiLoroe+ud [ 25
pO 4229+ 0.0
pl -35.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6.6,2)

T Laye+ud /25
pO 4205+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(cbch) (66,6

- i b18e+04 / 25
pO 4197+ 0.0
pl -35.48 + 0.00

10‘0
TP delay [ns]

TVC(eb,ch)=(6, 6, 10

1000

- i 22 re+04 | 25
po 4261% 0.0
p1 -35.96+ 0.00

TP delay [ns]

TVC(cbch) (6,614

1 i pYye+u4 [ 25
pD 4226+ 0.0
p1 -35.49 £ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

A~ 1 nuiL 353e+u4d [ 25
po 4218+ 0.0
pL -35.43+ 0.00

C =28.23 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

= 1nuiL531e+04 / 25
po 4209+ 0.0
p1 -35.91+ 0.00

TVC(c,b ch) (6, 6

50 160
TP delay [ns]

AR ﬁbie+l}4/25
pO 4257+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 6 15

= 1 i pobe+ud [ 25
pO 4240+ 0.0
p1 -36.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

P, po

pl

A7 1nun szve+u4 /25
4188+ 0.0
-35.46 + 0.00

TP delay [ns]

TVC(cbch) (67,4

pO
pL

= 1 nurg bobe+ud [ 25
4201+ 0.0
-34.72+ 0.00

% T
TP delay [ns]
TVC(cbch) (6 7,8
= po

T rnuiz410e+04 / 25
4210+ 0.0
-35.97 + 0.00

p1

TP delay [ns]

TVC(cbch) (6,7,12

e, po
p1

~ L gooe+u4 / 25
4257+ 0.0
-36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

e, po

pl

AT rmuLo/ie+ud [ 25
4212+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 b3ve+u4 / 25
4212+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (6 7,9

e, po

pl

~ 1 nuiL 18Ye+U5 / 25
4228+ 0.0
-36.43 + 0.00

TP delay [ns]

TVC(cbch) (67,13

e, pO
p1

T 1 nuiL gyve+ud / 25
4251+ 0.0
-37.2+ 0.0

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

e, po

pl

K™ 1 nuiooae+u4 / 25
4218+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(cbch) (6,7,6

X1,

F==, pD
p1

14z2e+04 | 25
4220+ 0.0
-35.01+ 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

= o

T o3 /e+ud [ 25
4253+ 0.0
-37.09 + 0.00

pl

TP delay [ns]

TVC(cbch) (67,14

1000

Ty rae+u4 /25
- pD 4255+ 0.0
L pl -36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.7,3)

pO
pL

T 1ose+ud /25
4218+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

g,
pO
pl

190e+04 | 25

4219+ 0.0
-34.49 + 0.00

[ C =28.99 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 7

e pO

T ‘JbHe+U4/25
4263+ 0.0
-37.48 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,7, 15

SRR

= po

(Upe+u4 | 25
4264+ 0.0
-36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

K™ nuiLyise+ud /25
- po 4185+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (6,84

T 3r9e+u4 / 25
e, pO 4270 0.0
pl -38.92:+ 0.00

50 10‘0 -
TP delay [ns]

TVC(cbch) (6 8,8

© i 1ube+u4 / 25
- pO 4214+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,812

Sruae 7 ysul/25
= po 4223+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT rnuiLbzie+ud [ 25

Foase po 4182+ 0.0
pl -34.77+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

1 nuz.uyze+u4 | 25

pl -37.72+ 0.00

4253+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

Tnan 2 38e+u4 [ 25
==, 4223+ 0.0
-34.59 + 0.00

[ C =28.91 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6,813

Srna 7 yae6 /25
foe, po 4236+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.53 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

A7 1 nui sooe+u4 / 25
_l'_ po 4206+ 0.0
- pl -35.05+ 0.00

-1 nurbh3e+u4 [ 25
- pO 4264+ 0.0
[ pl -38.21+ 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

T L gr3e+u4 [ 25
. po 4255+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (6,8, 14

T i 1s4e+04 / 25
. pD 4223+ 0.0
L pl -34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

p1

A~ 1 nuiLbsae+u4 / 25
4209+ 0.0
-35.77 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

p==. pO
pl

-1 nuz.buze+u4 / 25
4284+ 0.0
-37.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

RIS m::e+u4/25
4262+ 0.0
-35.04 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

T nai z4ye+ud [ 25
4233+ 0.0
-35.15+ 0.00

1
100

TP delay [ns]



TVC(c,b Ch) (6,9,0) TVC(c,b Ch) (6,9,1) TVC(c,b Ch) (6,9,2) TVC(c,b Ch) (6,9,3)
K1 dLier0a] 25 X~ 1L boae+Ud | 25 K- 1 ase 04 ] 25 % 1oevud ] 25
4000 f po 4216+ 0.0 4000, po 4221+ 0.0 4000 f po 4239+ 0.0 4000 o, po 4243+ 0.0
Pl -36.64% 0.00 pl_ -35.85:0.00 L Pl -37.69 0.00 pl  -37.170.00

3000

E 3000 - 3000 - 3000

2000 2000 2000 =1 2000

1000 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (69,4 TVC(cbch) (69,5 TVC(cbch) (69,6 TVC(c, bch) (69,7

T i1 bze+ud [ 25 -1 boze+u4d [ 25 “ i 753e+04 [ 25 Cnan 1/ /e+04 [ 25
4000 e, pO 4238+ 0.0 4000 pO 4252+ 0.0 4000 =, pO 4260+ 0.0 4000 fem, pO 4277+ 0.0
Pl -35.21% 0.00 pl_ -35.86+ 0.00 [ Pl -35.77%0.00 -36.8 % 0.0
- [ ]
3000 |- - 3000 - 3000 . 3000 1
2000~ . 2000 4 2000 . 2000 -
L~— ] 1000 ]
1000F 4 1000 - w00 C = 27.96 [pS/Ch ]
- I - 1 -
- - -
- - - -
1 1 1 1 L 1 1 0, _1 1
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,9,8) TVC(e.e=(6,9,9) TVC(eb.ch=(6, 9, 10) TVC(ebe)=(6,9,11)
© i yzze+u4 [ 25 T 4.40e+04 / 25 © 1 nu.b45e+04 [ 25 ~ i bsze+u4 [ 25
4000 pO 4222400 4000 fen pO 4234+ 0.0 4000 [, DO 4262+ 0.0 4000 foe, p0 4273+ 00
Pl 3509+ 0.00 Pl -35.94% 000 L 362+ 0.0 Pl -36.28+ 0.00

-1 3000

3000 -1 3000 =1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 9 12) TVC(c,b Ch) (6, 9 13) TVC(c,b Ch) (6, 9 14) TVC(c,b Ch) (6, 9 15)
T nuiL 140e+04 / 25 T zgoe+u4 [ 25 T nuiLa3ze+04 [ 25 T bb4e+04 [ 25
4000 f, pO 4239+ 0.0 4000 4236+ 00 4000 fe, PD 4250+ 0.0 4000 fam, pO 4260 0.0
Pl 3414000 -35.31+ 0.00 [ Pl -36.68+ 0.00 Pl 36,63 000

- 3000

3000~ - 3000 N 3000 -1

2000k ] 2000 4 2000 = 2000

1000 - 1000 L —- 1000 -1
wor C =29.29 [ps/chl™, 7] 2 [ ]
* 5(‘) —t— 1(?:0 * — — g‘ﬁ — — 10‘0 * O 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

© L pose+u4 / 25
4206+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.10,4

- L 68 7e+04 | 25
e, pO 4215+ 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

i boge+U4 [ 25
4220+ 0.0
-37.01+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,10, 12

T ore+u4 /25
= po 4229+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

e, po

p1

AT 1 nun L ose+ud [ 25
4208+ 0.0
-36.18 + 0.00

TP delay [ns]

TVC(c, bch) (6.10,5

- pO

-1 nui bzle+u4d / 25
4219+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

T naigpzie+ud [ 25
4223+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (610,13

T 1 nuiLp4oe+ud / 25
4230+ 0.0
-35.47+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

TP delay [ns]

TVC(cbch) (6.10,6

K™ 1 nui oove+u4 / 25
. po 4220+ 0.0
- pl -36.36 + 0.00

3000

=1 nur bobe+u4 [ 25
- pO 4228+ 0.0
[ pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

Tz rge+u4 | 25
e, po 4250+ 0.0
F pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (6,10, 14

T, rz9e+04 [ 25
. pD 4232+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

AT 1L ovye+ud [ 25
4214+ 0.0
pl -37.09+ 0.00

po

TP delay

TVC(c, bch) (6,10, 7

o= pO

pl

[ns]

- nu s1ye+u4 / 25
4232+ 0.0
-36.43+ 0.00

50 1(;0
TP delay

TVC(cbch) (6, 10 1

[ns]

T onui rg3e+u4 [ 25
4263+ 0.0
pl -37.19+ 0.00

TP delay

TVC(cbch) (6,10,15

e pO
p1

[ns]

Tanairz/e+ud /25
4239+ 0.0
-35.7+ 0.0

TP delay

[ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

A7 1 nuiayse+ud /25
o, po 4225+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(cbch) (6,11,4

- rnuLpule+ud / 25
pO 4182+ 0.0
pl -36.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 11 8

T il pLze+u4 / 25
- pO 4231+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (611,12

fiun1de+ud /25
- po 4253+ 0.0
pl -34.99 + 0.00

TP delay [ns]
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1000
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3000
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1000

4000

3000

2000

1000

TVC(Cbch) (6,11,1)

AT rnuiLbrse+ud /25
P ocse. po 4223+ 0.0
pl -34.52+ 0.00

[ C =28.97 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (6,115

-1 nui puze+u4 / 25
e pO 4198+ 0.0
Pl -37.26+ 0.00

TP delay [ns]

TVC(eh.ch)=(6, 11, 9

. V‘U|44Ube+U4/25
4219+ 0.0
-34.51+ 0.00

[ C =28.97 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (611,13

T inai zoze+ud [ 25
- pO 4252+ 0.0
pl -34.77 + 0.00

[ C =28.76 [ps/ch]

PR U S S |
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

A7 1 nun s4ne+04 / 25
_-_ po 4240+ 0.0
[ p1 -35.84+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,116

Tanu 11e+04 /25
- pO 4206+ 0.0
[ pl -36.99 + 0.00

TP delay [ns]

TVC(c,b, ch) (6,11, 10

X~ 1nuzayre+ud [ 25
- po 4251+ 0.0
- pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (6,11, 14

X~ 1 432e+04 1 25
- po 4268+ 0.0
L pl -35.8 + 0.0

TP delay [ns]

TVC(cbch) (6, 11 3)

4000 e pO

-1 i s4abe+ud [ 25
4247+ 0.0
pl -36.78 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (6,11,7

2000 pO

[ns]

-1 nui zgle+u4d / 25
4213+ 0.0
pl -35.97 + 0.00

3000

2000

1000 [~ C

50 1(;0
TP delay

TVC(e.beh=(6, 11, 11

4000 ey pO

[ns]

T nuiL pble+ud / 25
4253+ 0.0
pl -35.67 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (611,15

4000

[ns]

T nan szge+ud [ 25
4268+ 0.0
-35.49+ 0.00

3000

2000

1000

TP delay

[ns]
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T rnuiLsue+u4 /25
Frcea pO 4183+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (6,124

= 1 i boye+ud / 25
Freee pO 4234+ 0.0
p1 -37.76+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

T L z3oe+u4 [ 25
= po 4198+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T rnuiLzsle+u4 | 25
pO 4228+ 0.0
pl -34.82+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6, 12 1)

[ C =29.66 [ps/ch]

ST 9189725
e pO 4193+ 0.0
pl -33.71+ 0.00

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

=1 nui bule+ud / 25
[, DU 4228+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(ebeh)=(6, 12,9

~ 1 nug. rbbe+ud / 25
- pO 4224+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (612,13

Tonangage+ud /25
pO 4224+ 0.0
pl -34.96 + 0.00

TP delay [ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.63 [ps/ch]

AT 1nuisz1e+04 /25
po 4191+ 0.0
p1 -33.74+ 0.00

50

1
100

TP delay [ns]

TVC(cbch) (6.12,6

- 1 i boye+ud [ 25
pO 4222+ 0.0
pl -36.95+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (6, 12 10

1 nuiLgoye+u4 | 25
po 4242+ 0.0
p1 -34.89 % 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

- C = 29.06 [ps/ch]

© 1L suve+ud / 25
pD 4234+ 0.0
pl -34.41+ 0.00

50

P
100

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT nun Lase+ud [ 25
po 4217+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c, bch) (6,127

=1 Ui bbbe+ud / 25
E pO 4260+ 0.0
pL -38.36+ 0.00

TP delay [ns]

TVC(eh.eh)=(6, 12, 11

~ 1 nui vgYe+u4 / 25
- pO 4264+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (612,15

Tinuizo/e+ud [ 25
= pO 4211+ 0.0
-34.42+ 0.00

[ C =29.05[ps/ch]

PR I S S |
50 100

TP delay [ns]
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1000
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1000

4000 &

3000

2000

1000

TVC(CbCh) (6, 13 0)

T rnuiLozie+u4 [ 25
Focea pO 4200+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (6,134

- 1L 552e+04 | 25
= pO 4162+ 0.0
pl -35.57+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 13 8

T rnuzyloe+ud / 25
Fome, pO 4199+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (6,13, 12

~1nuiLg4o5e+04 / 25
pO 4210+ 0.0
-35.22+ 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (6,13,1)

4000 fu po

AT 1 nuLsuze+ud [ 25
4210+ 0.0
pl -36.87 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,135

4000~ pO

pl

[ns]

-1 nui b31e+u4 / 25
4165+ 0.0
-36.01+ 0.00

3000 |-

2000

woo- C = 27.77 [ps/ch

TP delay

TVC(c,b ch) (6, 13

4000 [,

[ns]

-1 nuy.oyve+ud / 25
4233+ 0.0
-35.35+ 0.00

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (613,13

4000 &

[ns]

-1 naiLbuye+ud / 25
4183+ 0.0
-34.33+ 0.00

3000~

2000 [~

100 C = 29.13 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

TVC(c,b,ch)=(6, 13, 2)

i

T
4000, po

p1 -36.42:+ 0.00

3000
2000

1000

TP delay

TVC(cbch) (6.13,6

4000 _:_ pO

p1

[ns]

-1 nuiL430e+04 / 25

) —‘
4170+ 0.0

-35.53 + 0.00

2090/ 25
4210+ 0.1

3000~

2000~

wol- C = 28.14 [ps/ch

TP delay

TVC(cbch) (6, 13 10

4000 [

[ns]

1 nuiLb4pe+u4 [ 25

) —‘
4216+ 0.0

-34.01+ 0.00

3000 |-

2000~

wol ¢ = 29.41 [ps/ch]

1
0 50 100

TP delay

TVC(cbch) (6,13, 14

4000 &

[ns]

T, sze+04 [ 25

4201+ 0.0
-34.9+ 0.0

3000
2000

1000

PR IR SRR |
50 100

TP delay

[ns]

TVC(Cbch) (6,13,3)

4000 fu__ po

AT rnuiLoyre+ud [ 25
4214+ 0.0
pl -36.45+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,137

4000 pO
pl

[ns]

=1 nui bube+u4 / 25
4194+ 0.0
-35.77 + 0.00

3000 -

2000

1000 [~ C

50 100
TP delay

TVC(cbch) (6, 13 1

4000 [Gus.

[ns]

<1 nuiL pb3e+ud / 25
4235+ 0.0
pl -36.23+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (6,13,15

4000 &

[ns]

-1 nui oyse+ud / 25
4201+ 0.0
-35.35+ 0.00

3000 -

2000 -

oo C = 28.29 [ps/ch

50 100

TP delay

[ns]
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TVC(CbCh) (6, 14 0)

T ssse+u4 [ 25
. pO 4200+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (6,144

-1 nuiLz04e+04 / 25
- pO 4202+ 0.0
p1 -35.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.48 [ps/ch]

T nuz.z43e+04 | 25
= pO 4181+ 0.0
pl -33.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

T s1se+u4 / 25
== po 4209+ 0.0
pl -35.29+ 0.00

TP delay [ns]
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1000
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1000

TVC(chh) (6,14,1)

A1 L alae+Ud ] 25
Fee.. po 4200+ 0.0
pL -35.61% 0.00

TP delay [ns]

TVC(c, bch) (6,145

- nui blve+u4d [ 25
- pO 4208+ 0.0
pL -36.59+ 0.00

TP delay [ns]

TVC(c, bch) (6, 14 9

[ C =29.28 [ps/ch]

T onun 5. 84e+04 [ 25
= po 4203+ 0.0
p1 -34.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

T nai zoye+ud / 25
== pO 4193+ 0.0
pl -35.94+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

AT 1 nuiaz0e+04 /25
— po 4204+ 0.0
o pl -35.86+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

- Ui b3be+u4 / 25
- pO 4221 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

T Lyze+u4 /25
= po 4210+ 0.0
- pl -34.1+ 0.0

- C = 29.32 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

2000

1000

~ i 1yge+u4 / 25
= pD 4214+ 0.0
L p1 -36.42 + 0.00

3000

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

A1 L adse+Ud ] 25
P, po 4223+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c, bch) (6,14, 7

-1 nun zgye+u4 / 25
- pO 4239+ 0.0
pL -36.99+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(6, 14, 11

-1 nui syze+u4 [ 25
= po 4217+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(cbch) (614,15

T inuizipe+ud [ 25
= pO 4203+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
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1000

a0
i 1
i 1
w0l C = 29.43 [ps/ch] ™, 1]
s e

4000

3000

2000

1000

TVC(eb.chy=(6, 15,0)

S g ive+ud /25
E pO 4149+ 0.0
Pl -36.09+0.00

TP delay [ns]

TVC(cbch) (6,15 4

- 1L 345e+04 / 25
E pO 4170+ 0.0
p1 -34.48+ 0.00

TP delay [ns]

TVC(eb.ch)=(6, 15,8

T i 1zoe+04 / 25
- pO 4211% 0.0
p1 -33.97 + 0.00

TP delay [ns]

TVC(cbch) (6, 15 12

L ssle+ud [ 25
C pO 4286+ 0.0
pl -37.24+ 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (6,15,1)

A~ 1L so4e+u4 [ 25
E po 4151+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(chh) (6,155

“nuizZ/ve+u4 [ 25
Fones pO 4183+ 0.0
p1 -34.04+ 0.00

F C =29.38 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6,159

- 1 nuz.ugve+ud | 25
L pO 4228+ 0.0
pl -34.52 % 0.00

r C =28.97 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6, 15 13

-1 nuiLbsYe+ud | 25
C pO 4279+ 0.0
pl -36.88 + 0.00

TP delay [ns]
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1000
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1000

4000

3000
2000

1000

TVC(cbch) (6,15,2)

K- 1 nuialze+04 /25
E po 4157+ 0.0
I p1 -35.27+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,156

- L3 re+04 /25
... po 4194+ 0.0
[ p1 -34.94 + 0.00

- C = 28.62 [ps/ch

50 10‘0
TP delay [ns]

TVC(e.b.ch)=( 6, 15, 10

T rnuiL4/9e+u4 [ 25
-_ pO 4252+ 0.0
_ p1 -34.68 + 0.00

- C = 28.84 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6, 15 14

~1nuiLgquse+ud [ 25
C pD 4277+ 0.0
[ -36.31+ 0.00

A R
50 100

TP delay [ns]

TVC(cbch) (6,15,3)

4000 po

AT 1L 1oe+ud [ 25
4175+ 0.0
p1 -36.06 + 0.00

3000

2000

1000

TP delay

TVC(C, bch) (6,157

4000 | PU

pl

[ns]

CnuiL1i/e+ud [ 25
4199+ 0.0
-33.83+ 0.00

3000

2000 -

wor C = 29,56 [ps/ch]

L
50 100
TP delay

TVC(cbeh)=(6, 15, 11

4000 faue p°

pl

[ns]

- nuiLz13e+u4 [ 25
4242+ 0.0
-34.06+ 0.00

3000 -

2000 -

1o00F C = 29.36 [ps/ch]

1
50 100

TP delay

TVC(cbch) (6, 15 15

4000 pO

[ns]

-1 nuiLbz0e+u4 [ 25
4286+ 0.0
p1 -36.84 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

AT nui g rye+u4 /25
- po 4194+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (70,4

- i 7o re+04 ] 25
s, pO 4176+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (7 0,8

1 nuiLyyve+u4 / 25
= PD 4209+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T g zz4e+04 | 25
= po 4239+ 0.0
pl -37.79+ 0.00

50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT 1nuiLBz/e+u4 [ 25
P s po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

=1 nuiL Buge+u4 / 25
E pO 4192+ 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

T nugs1ve+ud /25
= po 4212+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(cbch) (7,0,13

T inuslae+ud [ 25
- pO 4232+ 0.0
pl -37.26 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (70,6

-1 y13e+u4 / 25
F po 4186+ 0.0
[ pl -34.54+ 0.00

A7 1 nui gyse+u4 / 25
= po 4205+ 0.0
[ p1 -36.47 + 0.00

3000

- C=28.95 [ps/chPy, 1

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T z.49e+04 /25
= po 4250+ 0.0
- pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T g, szoe+u4 [ 25
3 pD 4238+ 0.0
[ p1 -38.19+ 0.00

TP delay [ns]
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1000

4000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT 1L Byoe+u4 [ 25
P s po 4197+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

-1 nui Yole+ud / 25
- pO 4210+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7, O

T ‘Jbbe+l}4/25
= pO 4246+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

T inai rzae+u4 [ 25
4246+ 0.0
-37.41+ 0.00

50 100

TP delay [ns]



TVC(eben)=(7, 1,0) TVC(eben)=(7, 1, 1) TVC(eben)=(7, 1,2) TVC(eben)=(7,1,3)
Tonan L /re+u4 /25 AT 1 nuiLBsbe+u4 / 25 X~ 1Ly e+U4 /25 AT rnuiLBz1e+u4 /25

4000, PO 4176+ 0.0 A00E, po 4191 0.0 A000F L, po 4102 0.0 4000 P, PO 4222+ 0.0
pl -35.69+ 0.00 pl -36.55+ 0.00 : pl -36.68 + 0.00 pl -36.31+ 0.00

- 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 = 2000

1000 E 1000 7] 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.1,4 TVC(cbch) (7,1,5 TVC(cbch) (7,1,6 TVC(cbch) (7,1,7

- i 3z3e+04 / 25 T 3p/e+ud [ 25 T b4 /e+04 [ 25 S 41/e+04 /25
4000 pO 4223+ 0.0 4000, DU 4218+ 0.0 4000 fm, pO 4232+ 0.0 4000 f, pO 4239+ 0.0
Pl -36.07+0.00 Pl -35.49: 0.00 [ Pl -35.77%0.00 -36+ 0.0

3000~ 1 3000 - 3000 - 3000 N

2000~ b 2000 E 2000 - - 2000 N

1000 - ] [~ _ ] 1000 -

C 1000 wol- C = 27.96 [ps/ch ]
- L - .
- - -,
- - .
1 1 1 1 1
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVC(ebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
ALY t?aée-‘-uzl 125 T nug, z?/he+u4/25 RALA H)tse-*utllzs T o, iU)Be+U4/25
4000, pO 4227+ 0.0 4000 e, pO 4237 0.0 4000 e, DO 4249+ 0.0 4000 o p0 4262+ 0.0
Pl 3553 0.00 -34.61+ 0.00 L Pl -33.38+0.00 -34.75.% 0.00
3000 E 3000 [ E 3000} ] 3000 - B
2000 4 2000 E 2000k ] 2000 1
1000 — 1000 C = - I ] 1000 C = —
C =28.90 [ps/ch] - wol C = 29,96 [ps/ch] “-_ 7] C =28.78 [ps/ch] -
1 1 - [ 1 ' i 1 1 "
50 100 0 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(711 ) TVC(cbch)(7113) TVC(cbch)(711 ) TVC(cbch)(7115)
~rnuiLyuze+u4 / 25 T nui rboe+ud / 25 1 nuiLyooe+ud / 25 T nuigb/e+ud [ 25
4000 pO 4225+ 0.0 4000 pO 4222+ 0.0 4000 pD 4227+ 0.0 4000 o, pO 42291 0.0
pl -35.25+ 0.00 pl -35.49+ 0.00 r pl -35.88+ 0.00 pl -35.33+ 0.00

- 3000

3000 -1 3000 -1 3000 -

2000 -1 2000 - 2000 - 2000

1000 -1 1000

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

AT 1nuisuie+ud /25
po 4206+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (72,4

- 1L Ba3e+u4 / 25
e, pO 4186+ 0.0
p1 -35.34+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

T Lyse+ud /25
po 4233+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T rnuiL43pe+u4 / 25
pO 4215+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1

AT 1 nuiLzyze+ud [ 25
Foase po 4190+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

~nuiL vy re+u4d / 25
[, DO 4206+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T nuig 3o3e+ud / 25
= po 4237+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (7.2,13

T inuiLa3ye+ud [ 25
- pO 4212+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

A7 1 nui syoe+u4 / 25
o po 4199+ 0.0
L pl -36.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

-1 nui398e+u4 / 25
e pO 4189+ 0.0
X pl -34.59 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

Tz 143e+04 / 25
- po 4254+ 0.0
- pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

~ 1L boze+04 / 25
pD 4225+ 0.0
-35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1 nuiLSr4e+U4 [ 25
1 s, po 4213+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

-1 nuz Usze+u4 [ 25
- pO 4212+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T aue+u4/25
= po 4259+ 0.0
pl -37.69+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

Tonair1ze+ud [ 25
= pO 4230+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A~ 1L obre+ud /25
4186+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(cbch) (7.3,4

T i1 52e+04 /25
P pO 4178+ 0.0
Pl -35.66+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

- 1 nuiL 5yge+ud / 25
4195+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,312

- 1 i pgoe+u4 [ 25
4215+ 0.0
-36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1)

F.... po

pl

A1 L Sa4e+U4 | 25
4195+ 0.0
-37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

- b3se+u4d [ 25
4189+ 0.0
-36.4 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (7 3,9

== pO

pl

T nun 5 8Ye+u4 [ 25
4215+ 0.0
-36.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 3 13

TinuiLnrse+ud [ 25
4206+ 0.0
-36.31+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

A1,

[Free, PO

pl

rooe+U4 /25
4202+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(cbch) (73,6

1000

1000

0

T a1 bYe+u4 / 25
pO 4193+ 0.0
pl -35.95+ 0.

-35.95 + 0.00

TP delay [ns]

TVC(eb,oh)=(7, 3, 10

= F’O

-1 nu 20ze+04 [ 25
4233+ 0.0
-37.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (7,314

~1nuiLgn4e+04 [ 25
4210+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3)

F.... po

p1

A~ 1 nuiLbzye+ud [ 25
4202+ 0.0
-36.54 + 0.00

TVC(c,b ch) (7 3,7

1
100

TP delay [ns]

~ o 1.40e404 [ 25
pO 4197+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

. pO

T azue+u4/25
4241% 0.0
-36.82+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (7, 3 15

-1 nuiL byoe+ud / 25
4223+ 0.0
-35.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1 g

uyse+u4 / 25
4189+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

.31be+04 / 25
4211+ 0.0
-35.8+ 0.0

- C -1
% T
TP delay [ns]
TVC(c,b ch) (7, 4 8

pO
p1

Ysze+u4 | 25
4213+ 0.0
-34.95+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

1z, sse+u4 | 25
4217+ 0.0
-36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7.4,1)

P pO

p1

T nun zu4e+ud [ 25
4184+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

-1 b3be+u4 / 25
4213+ 0.0
-35.39 % 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

e, po

pl

- nuiy Yloe+ud / 25
4233+ 0.0
-35.12+ 0.00

TP delay [ns]

TVC(cbch) (7.4,13

T nuz z3oe+ud [ 25
4224+ 0.0
-35.46 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7.4,2)

[oeee, po

pl

K71 nuig zqye+04 [ 25
4192+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7,46

pO
p1

T 1Ly /e+04 [ 25
4225+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO

pl

1 nuig.49ve+u4 [ 25
4249+ 0.0
-34.82+ 0.00

TP delay [ns]

TVC(cbch) (7.4,14

Tz 1zoe+04 | 25
4213+ 0.0
pl -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

PSRl

e, po
pL

uzse+u4 | 25
4197+ 0.0
-35.67 + 0.00

TP delay [ns]

TVC(cbch) (7.4,7

pO
pl

-1 nui B44e+04 / 25
4232+ 0.0
-36.97 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (7, 4

= pO

1)
Tonan 2z /be+u4 [ 25
4251% 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(C, bch) (7.4,15

T nuiz 115e+ud [ 25
4234+ 0.0
-37.09+ 0.00

TP delay [ns]



TVC(c,b Ch) (7,5,0) TVC(c,b Ch) (7,51) TVC(c,b Ch) (7,5,2) TVC(c,b Ch) (7,5,3)
K- Liser0a ] 25 X~ 1L ALve+Ud ] 25 K1 dze+04 ] 25 X 1L duve+ud | 25
A000R po 4187+ 0.0 400 po 4194+ 0.0 4000, po 4212+ 0.0 4000 R, po 4218+ 0.0
pl 3505+ 0.00 pl_ -35.320.00 [ pl -35.9% 0.0 Pl -35.68+ 0.00

3000

-1 3000 -1 3000 =1 3000 -1

2000 -1 2000 =1 2000 = 2000

1000 -1 1000 - 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,54 TVC(cbch) (7,55 TVC(cbch) (7,56 TVC(c, bch) (7,57

T nuiL1/0e+04 / 25 ~ 1 nurL4use+ud [ 25 “nuiL bz /e+04 [ 25 T 3b3e+U4 [ 25
4000 pO 4189+ 0.0 4000, pO 4210+ 0.0 4000 pO 4205+ 0.0 4000 [ pO 4217+ 0.0
Pl 3457+ 000 Pl 3562+ 000 [ P 3504+ 000 pL_ 3536+ 000

3000 ] 3000 - 3000} ] 3000 ]
2000 - 2000 E 2000 ] 2000 [ —
1000 - 1000 1 1000:— C =28.54 [psi/ch — woor C = 28.28 [ps/ch ]
| 1 ~- I L L " ] N . "
50 T00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 5,8 TVC(cbch) (7 59 TVC(cbch) (7, 5 10 TVC(cbch) (7, 5

1 nuiLbgye+u4 / 25 ~ 1 nu gobe+ud [ 25 T, [ rze+04 | 25 T rnug yme+u4/25
4000 PD 4206+ 0.0 4000 b, DO 4219+ 0.0 4000 - DO 4238+ 0.0 4000 pom, pO 4242+ 0.0
pl -36.53 + 0.00 pl -36.89 + 0.00 I pl -36.59 + 0.00 pl -36.31+ 0.00

- 3000

3000 -1 3000 -1 3000 -1

2000 - 2000 -1 2000 N 2000

1000 - 1000 -1 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(751 ) TVC(cbch)(7513) TVC(cbch)(751 ) TVC(cbch)(7515)
T rnuiLsE1e+U4 / 25 TinuiLas/e+ud [ 25 ~1nuiLgooe+u4 / 25 71 nuiL buse+ud / 25
4000 pO 4238+ 0.0 4000 [, pO 4239+ 0.0 4000 e, pD 4242+ 0.0 4000 pO 4226+ 0.0
pl -36.59 + 0.00 pl -36.76 + 0.00 [ pl -37.22+ 0.00 pl -35.94 + 0.00

3000

. 3000 - 3000 1 3000 .

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

K™ 1nui 7 1se+04 [ 25
e po 4227+ 0.0
p1 -36.78+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- InuiLg4/e+04 [ 25
Faase po 4207+ 0.0
pl -35.45+ 0.00

50 5
TP delay [ns]

TVC(cbch) (7 6,8

-1z 1yae+ua [ 25
- po 4188+ 0.0
p1 -34.07 + 0.00

I C =29.35 [ps/ch]

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

- 1 nuwg,582e+04 [ 25
= po 4202+ 0.0
pl -32.52:+ 0.00

[ C =30.75[ps/ch] ™ 1]

P B |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (76,1

AL 5a1e+U4 ] 25
P oaee po 4230+ 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

= nur 1 gbe+u4 / 25
Fucse po 4225+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

- Z11e+04 [ 25
4223+ 0.0
-35.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nui sbye+ud / 25
- pO 4236+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

A1 4z4e+04 [ 25
-_ po 4224+ 0.0
[ p1 -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- rnuz 138e+04 [ 25
. 4239+ 0.0
[ -36.3+ 0.0

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- iz, (63e+U4 | 25
F pO 4248+ 0.0
L pl -35.92:+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 14

1000

-1 1bve+ud [ 25
pD 4249+ 0.0
p1 -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.6,3)

- 1osesud 25
— pO 4241+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

- nu 3use+u4 / 25
- pO 4252+ 0.0
-36.7+ 0.0

50 160
TP delay [ns]

TVC(c,b ch) (7, 6

T, mbe+u4/25
= po 4236+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

Tinuizi41e+04 /25
= po 4241+ 0.0
-35.69+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

AT inuisr1e+04 /25
o, po 4206+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (77,4

- i S26e+04 [ 25
F po 4204+ 0.0
pl -34.91+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

©1nuizua4e+04 [ 25
= po 4217+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

~rnuiLgooe+u4 / 25
= po 4224+ 0.0
pl -37.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

X 1L do1e+ud | 25
e po 4219+ 0.0
pL -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

= 1 nuiL S3ge+ud / 25
F po 4215+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

~ 1 nug.ysye+ud [ 25
= po 4232+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (7,7,13

T nui s3se+ud [ 25
- pO 4222+ 0.0
pl -37.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

AT 1nun szze+04 /25
_._ po 4218+ 0.0
- pl -35.11+ 0.00

- C = 28.48 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

S a1 58e+04 [ 25
4232+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(ebeh)=(7, 7, 10

0

© iz 114e+u4 /25
- po 4240+ 0.0
L pl -36.42+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

~1nuizusze+ud | 25
- pD 4220+ 0.0
L p1 -36.82+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

L1.4ae+u4 /25
4223+ 0.0
-35.38+ 0.00

A

- PO
p1

TP delay [ns]

TVC(c,b ch) (7 7,7

feme pO
pl

-1 byge+u4 / 25
4235+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

FSILT R

= po
pl

1)
13e+04 /25
4251% 0.0
-36.01+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

T nuiysae+ud [ 25
4222+ 0.0
-37.26+ 0.00

TP delay [ns]



TVC(cbch)(780) TVC(cbch)(781) TVC(cbch)(782) TVC(cbch)(783)
2000 E X~ 1L s10e+U4 / 25 - AT rnuiLr1/e+u4 [ 25 4000 X~ 1L suLe+U4 /25 4000 E AT 1nuiL, 1 33e+U4 / 25
P ne po 4163+ 0.0 4000 po 4177 £ 0.0 o po 4178+ 0.0 [, po 4177 £ 0.0
pl -36.09 + 0.00 pl -35.62+ 0.00 I pl -35.47 + 0.00 pl -34.83 + 0.00

3000

B 3000 - 3000 - 3000 [ B

2000 2000 - 2000 1 2000 |

1000 1000 = 1000

7 woo- C = 28.71 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.8,4 TVC(cbch) (7,85 TVC(cbch) (78,6 TVC(c, bch) (7,87

T nuiL fbre+u4 [ 25 -1 nurL byze+ud / 25 - nun Bz8e+04 [ 25 -1 Bage+u4 [ 25
4000, pO 4180+ 0.0 000 R, pO 4188 0.0 4000, pO 41941 00 4000, pO 4205+ 0.0
Pl 3574+ 000 Pl 3611+000 t PL_ 3617+ 000 Pl 3665+ 000
3000 ] 3000 g 3000 g 3000 4
2000 4 2000 — 2000 n 2000 ]
L ] L ] [ ~_ n 1000 - E
1000 C 1000 C w0 C = 27.64 [pS/Ch ]
- - I - 1 -
- - - -
1 1 - 1 1 - L 1 1 = _1 1 =
50 00 50 00 0 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 8,8 TVC(cbch) (7 8,9 TVC(cbch) (7, 8 10 TVC(cbch) (7, 8

4000 T rnuzgr9e+u4 | 25 -1 nui/ 1voe+ud / 25 4000 a2 g49e+04 | 25 4000 T rnug 9b=e+u4/25
[, PD 4196+ 0.0 4000 DO 4217+ 0.0 - DO 4203+ 0.0 - pO 4205+ 0.0
pl -35.21+ 0.00 pl -35.94 + 0.00 r pl -33.61+ 0.00 pl -34.98 + 0.00

- 3000

3000 ] 3000 |~ - 3000 1

2000 2000 2000 2000

1000 1000 1000

ol © = 29.75 [ps/ch]

o 1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,812 TVC(cbch) (7.8,13 TVC(cbch) (7.8 14 TVC(C, bch) (7.8,15

1 nuiLyyve+u4 / 25 ~ 1 nui gyse+ud / 25 -1 nuizyose+ud | 25 Tinanzule+ud | 25
4000 b, PO 4208+ 0.0 4000 PO 4215+ 0.0 4000 - PD 4226+ 0.0 4000 g, PO 4226+ 0.0
pl -37.38+ 0.00 pl -38.17+ 0.00 r pl -38.39+ 0.00 pl -37.79+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

N PR Y
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0

A7 1 nuzuise+ud /25
- po 4178+ 0.0
pl -39.14 + 0.00

TP delay [ns]

TVC(cbch) (79,4

- i bave+ud / 25
e pO 4185+ 0.0
pl -37.12:+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

 1nuiLyuge+U4 / 25
= po 4190+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

T r3se+u4 [ 25
= po 4202+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,1)

X~ 1ze+ud /25
P e po 4178+ 0.0
pL -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

= rnuiL 7z0e+04 | 25
= po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

T nu.a19e+u4 25
4228+ 0.0
-35.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,9,13

TonanLyre+ud [ 25
- pO 4201+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

3000
2000

1000
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